2018/TDC/ODD/ENGC-101T/001

TDC (CBCS) Odd Semester Exam., 2018

ENGLISH

( 1st Semester )

Course No. : ENGHCC-101T

( British Poetry and Drama : 14th to 17th
Centuries )

Full Marks : 70
Pass Marks : 28

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer all questions

UNIT—I
1. Answer any two questions : ox2=4
(a) What is a morality play?

(p) Name any four dramatists among the
umversxty wits.

{c) Note any two chaaracteristic features of
the Elizabethan theatre.
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.: (3)
(2) $‘
, ' UNIT—III
2. Answer any one questions 10 ‘\_
(@) Write a note on English poetry written 5. Answer any two questions : ‘2x2=4
during the Renaissance period. | (@) What does John Donne mean by ‘both
: : ) th’Indias of spice and mine’?
D .
() Sll:;lss the chief features of a
€Spearean tragedy, (b) Explain very briefly She’s all states, and
all princes 1.”
UNrr—yg (¢ Which time of the year is referred to in
| 3. Answer any i Questiong ox2=4 Sonnet No. 73 and why?
(@ Write b
equi Prielly bout the clothes and ' 6. Answer any one question : 10
) What . (@) Analyse the central theme of John
at was written ° Donne’s poem, The Sunne Rising
: N the by f the poem, '
Prioresg and whqt oes it ?ac.h o
- Signify? (b) Discuss Shakespeare’s Sonnet No. 73
b :V l}(:iVer and the beloveq o qred as a poem dealing with the issues of age
ch animg|g in SOMete§0m27 by of love.
“nd Spengern o
. UNIT—IV
- Answer '
. Ay one Questiop, . 10 7. Answer any two questions : 2x2=4
Q) Asseg ) .
o th: C ;cer’s art of characterization (a) Who is Mephistopheles?
Chf\racter e wi Teference to the (b) Name two friends of Dr. Faustus
Oress, the Knight gnq the ' .
(b) Attempg o erit. (c) What are .the Prophecies made by Fhe
onnet No, ¢ Analysis of Spenser’s witches with regard to Macbeth during
* 67 frg oretti their first meeting?
| | J9/1046 ( Turn Over )
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8. Answer any one question :

t (a) Critically discuss Christopher Marlowe® O)
‘ . Doctor Faustus as a morality play- E(é ENGLISH
\ ®) Ll,yse the character of Macbeth 25 a »
tragic hero. \/ ( 1st Semester )
Course No. : ENGHCC-102T
UNIT—Vv
9. An %2
SWET any two questions el ( Indian Writing in English )
(@ Who i ' ps
reall0 12{1 Mac Flecknoe and what 15 . N Full Marks : 70
b ntity? ‘ Pass Marks : 28
Mac . . |
formgl;ckno? 18 written in which hteraf)’ } Time : 3 hours
. , Xplain briefly. "
¢/ Which liter to '€ figures in the margin indicate full marks
, . en ‘ .
Compose Mary ;"l':r:nleotlvated Dryi it for the questions
Publisheqs CRnoe and when o
10. Answer any one gl , UNIT—I
I (@) Question Swer any two of the following questions :
Do yoy think tire ' _
Give reqq Mac Flecknoe is a 52 | | 2x2=4
Ons for your answer. ) Name any two shorter lyrics of Toru
(b) Attempt a critj, oe Dutt.
M cal analysis of the P
e.

P)  Mention two pioneering Indian English
' novelists of the pre-independence era.
* % & )

Name two volumes of R. K. Narayan’s
short stories.

J9—580/1046 ( Turn Over )
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2. Answer any.one of the following questions :- 10

o
(a) Write a note on the development of /'

Indian English poetry from 1857 to.i |
1920. |

|
(b) Write an essay on the growth of Modemi ;
Indian English drama. /

.

6. Answer any one of the following questions :

(:3)
(b) What does the Casuarina tree
symbolize?
(c) How did the mother respond after the

recovery in Ezekiel’s

The Night of The
. Scorpion? ' -

10

| (@) Examine the theme of the poem,
JJ;\ : The Night of The Scorpion.
3. Answer any twoof the following.questions : 1154 (b) Attempt a critical appreciation of
, . 2% | Toru Dutt’s Our Casuarina Tree. -
(@) What was the reason behingd the ‘hartal’ :
. or strike in Swami ang Friends? ‘}‘ a UNIT—IV
(b) Describe the room of 3’6 ! l .
grandmother Swami / 7. Answer any two of the following questions :
L , 2x2=4
() Who were the friend, ;
] S of Swamip | {a) What is Roopa’s role in the play, Tara?
4. énswer any one of the following questions : 1‘ (b) What does the name ‘Tara’ signify in
(a) f}l\; a character sketcp of Swarninatha" 1 the text?
-IMR K, s . .
b o K. Narayan’s Swamiand Friends. - {c) What role did Dr. Thakkar play in the
1Scus: : . { ;
" e iy bon ) | e o T
= S. S
Hi;; 8. Answer any one of the following questions : 10
L UNit—jyg 1 (@) Examine the theme of female identity
. SWer any g, : . in Mahesh Dattani’s Tara
of the followmg questions ,9) .
Whe & 3 (b) Give a character sketch of Chandan in
@ desiI;Zetc}llZ:i;rin grandmother’s hou?’ 4 Tara
Ozen? : J J9/104%7 ( Turn. Over )
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UNIT—Y : TDC {CBCS) Odd Semester Exam., 2018

9x2
{ 1st Semester )

(a)
(b)

Why did Lala Jhinda Ram marry twice?

. Course No. : ENGAEC-101T
What does the geq symbolize in shast’

. Deshpande’s story, The Intrusior?
() How dges -

{ English Communication )

Full Marks : 50

the woman surrend®’ i

The Intrusiorp . g  Pass Marks : 20
S s W
10. Answe | | ‘ Time : 3 hours
) r M . - -
= one of the following queSﬁons ) The figures in the margin indicate full marks
@ ?’Omment on the theme of I ndianﬂcss for the guestions
o the cont -0 ds all questions
: ext of Mulk Raj An® Answer all q
Two Lady Rams, J.
(b) UNIT—I

Criti
Heally CXamine the crisis of ~fem‘ale

aut . .
x°;1:tf:im Shashj Deshpande’s stor¥’ Answer any three questions of the following : 1x3=3
io N
" 1. (@) What is commu ‘cation?
_ (p) Name the two major types of
* ok & | ' : communication.
‘ (c) Define written communication.
| (d) Define interpersonal communication.
2. Answer any one of the following : 2
(a) Explain briefly the meaning of business
communication.
: (b) State any two demerits of verbal
‘ J9—580/1047 communication.
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3. Answer any one of the following question : 5

{a) Bring out the salient features of verbal
communication.

(b} State the importance and objectives of
business communication.

UNIT—II

4. Answer any three of the following questions :
1x3=3
(@) Define monologue.
(b) What is effective communication?
{c) What is dialogue?

(d) What do you mean by group
discussion?

8. Answer any one of the following questions : 2

fa) Mention any two skills required to
participate in a group discussion.

(b) State any two steps of effective

communication.
&. Answer any one of the following questions : 5
(a) State some possible causes of
miscommunication.

(b) Suggest some essential steps for
conducting a job interview.

UNIT—III

Answer any three of the following questions :
1x3=3

(a) What do you mean by close reading?

f9’ 1049 ( Continued )
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(3)
(b) What i Comprehensijon?
(© What do you isi
me a
oy an by Summarising
(d) What is parapi::.rasing?
.8, '
‘ Answer any one of t] following questions : 2
(a) cBoneﬂy . describe the meaning of
Mprehensioy, Menti of
comprehension. of o features
(b
| ) Sﬁggest '0 steps to be taken care of
/ . e paraphrasmg a text
. Answeran .
,‘; @ D, Y one of t,, followmg questions 5
| uss close ding of g text
( ) escrib th Str : .
Compreheng ategies of text
UNI'I‘\IV
Answer Y three of the §
¢ ollowmg questions
@ Whag d you 1x3=3
(b) State g o “21 by a document?
ortg ;
© Mentio, one . jnce of note making.
note, * the feq

tures of a good

(d) What is docu,Tlentin R
8

11. Answer any one ¢ the
Ollow; .
(a) Briefly €xplaip, ¢ OWing Questions : 2

making. ¢ Meaning of pote
b) State the impny,
(b Mance of documenting.

J9/1049 ( Turn Over)
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Answer any one of the following questions : S
(a) Describe the types of documenting.

(b) Describe the varlous stages of note
. making.

UNIT—V

Answer any threeof the following questions :
1x3=3
fa) What do you mean by report writing?

(b) Name one type of informal letter.,

{c) What are lateral reports?

(d) What is the importance of business
letters?

Answer any one of the féﬁdvving questions : 2

(a) Show the difference between formal and
informal letters.

(b) What are functional reports?

Answer any one of the following questions - 5

() Write a report on the s0or road

" condition of your locality.

) Write a letter to the Editor of g
newspaper about the activities of
antisocial elements in your locality.

* % &
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TDC (CBCS) Odd Semester Exam., 2018

ENGLISH
( 1st Semester )
Course No. : ENGLAN-101T
( English Language—1I )

Full Marks : 70
Pass Marks : 28

Time : 3 hours

The figures in the margin indicate full marks
] Jor the questions

Answer all questions

UNIT—I
Put appropriate determiners (any foun . 1x4=4

{a) There is university at Banaras,

(b) Who is _____ happiest of all?
\(c)

good in him revolted at this.

(d) This is honour for me.
fe} Metre is unit of length,
DS0
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| (3)
(2)

; (7 One of the nails ____ sticking out.

‘f‘ 2. Insert appropriate preposition (any one) : 2 (is/are)

) (a) When the train reached Madhupur, (Agree the verb)
I saw my friend waiting the (g} Tom, along with his brothers going
platform ___ his brother, to the city. (is/are)

(Agree the verb)
(b) 1reached my friend’s house about
five ___ the evening, - (h) He went to school the age of five.

(Insert preposition)
3. Rewrite the fOllowiﬁ

to the di g sentences according (i) He looked the answer paper.
Irections given j ets (Insert preposition)
(any eighy - in the brack I« g8
@ 1 () Do you like dress?
a) 1 him to ¢g ' ' (Put determiner)
A m al
times. (agk) ¢ to my place sever ,
m(fiwrite using the verb given in
 Pracket in correct tense for™
(b) My Sist(er many stories. (write) , Unit—II
Re“}rit . : . . v
the bl‘acli us'mg the verb given ¥ 4. Put appropriate question tags (any jfour) :
et in correct tense for™ 1x4=4
¢ Th
N boir, don’t distur him. (sleep) (@) You aren’t hungry.
the b © using the verb given ¥ (b} You never met him
racket in correct tense for® n° ‘
(d) They fought (¢ He couldn’t answer him.
A good fight, @
(Change the voice) [ ) These houses are large.
(e) He was Punisheq g, mi d () The students have done well.
1sconduct.
, (Change the voic? ; J9/105¢ ( Turn Over )
Jo/ 105 1
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(4)

S. Do as directeq (any one) :

(a . ;
) He was i, and so he could not come: Ul

T
W
o
I
o

Spite of hig illness, he will come-:

i

(Change into a complex sentﬂlcel ';

Ji

(5)

(d) Combine the following sentences :

I saw an old man. This was on my way
to school. He was poor. He was also
bent down with age. He was standing
at the door of a house.

6. Answer .: 4
r : 44
I
o 8¢ the narration of the following® !/ UNT—III
st;d ‘eacher became angry with the |
udent; . in il | .
distul‘b:dand said, “why have you agal‘; 4| 7. Answer any four from the following : 1x4=4
told the class in this way? I P
Speal You before that when I 9- (@) Where is Tawang located?
g, . ve ,:r‘ . e
the Toom, };:; Zhould be silent. Le;l o (b) From which book of Elwin, A Pilgrimage
) Combipe the fono not return today: j to Tawang is taken?
owi s : '
L&‘eard a louq no.ng s;entencel.ke ‘ (¢ What was the Getompa?
rsty ise. It was 11 i
h:?fe ® & bomb, It came ”!}' (d) When was Twelve Million Black Voices
i . Dearh . wed ;
Eme(_hately by gﬁe This was follooice . published? .
my thls. aPpened S from many Y afte ‘] () What does the term ‘negro’ carry
arriya) 2 few minutes according to Richard Wright?
i
(c) Change the Or " in 8. Answer any one from the following : )
“0 Narrgt; gl )
“Wl:lbeautiful ladtlon of the fOllOWlngaﬂ,‘ { (a) What were the two occasions when
< Y haye Y”, said the fisher™ ” Tawang came into the world news?
Uch as 'a:zou Come to this lsland f [ b
zhere do v B¢ ship? Who are you aﬂe (b) What does the essay, Twelve Million
ing o A . .
thf;gs daught: ome from? You look¥ 11;::" Black Voices deal with?
Son 4 ' and th looks o
J9/1050 A god.” © boy lo gd 100 ‘ ( Turn Over )
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(6)
9. Answer any one from the following :
(a)

Why does Elwin call his journey to

Tawang a pilgrimage? Give reasons for
your answer.

(b)

Discuss the chijef theme of the essay:
Twelve Million Black Voices.

UNIT—Iv
10. Answer any Jour from the following :

(a) What is M. Loisel’s Profession?

(b) How much money doeg Mathilde ask t0
buy a new dress?

(9 At what time do M. anq Mme. Loisel
leave the party? .

(d) Name the merch

ant in the
. Truth, gy Waits, 7od Sees
(e) What did Aksig

€amn a litye money?

Aksio )
e firgt inn? nov dg Just before he left

e I.,oisel Unhappy with
e"glnning

of the story?

. 1€
{ ContinV

13.

1x4"'

I ()

14,

4

(7))

;12 Answer any one from the following :

(a)

In what ways is Mathildcz11 l?Lmsel
responsible for her own downf:

What are the series of events that led
at ar e R
to Aksionov’s imprisonment:

(b)

UNIT—V

ne of the
Write a short paragraph on any o
topics given below : .
i on
(@) The scene at a railway sta

|

Uses of a college library

{c) A visit to a book fair

j You have seen an

Kamala/Rajan. en 20
Ys-:jeratli:ement for the post of & Mlit}: s
: her in Rani Public School, Ko :;.ﬁ s.ement
€ache
a letter in response to t'he ail:li semen
applying for the post. Give ¥
bio-data_

Or )
You are Preeti/Pritam. Recently you rea

an f Sales
g advertisement for the post ©
f

Manager in Wisdom Publishers Lt(flt.hW:ti
an application for the job along with y
detaileq resume.

* Kk K
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TDC (CBCS) Odd Semester Exam., 2018

BENGALI
( 1st Semester )
Course No. : BNGHCC-102T
( ABH © TG arsn &1 )
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| TDC (CBCS) Odd Semester Exam., 2018

BENGALI

( 1st Semester )
Course No. : BNGAEC-101T

( STs w01, A ¢ 2w )

| ( For Arts, Science, Commerce—Hons,
and Pass Course )
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TDC (CBCS) Odd Semester Exam., 2018

BENGALI

( 1st Semester )

Course No. : BNGGEC-101T/
BNGDSC-101T
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2018/TDC/ODD/PLSC-101T/045

TDC (CBCS) Odd Semester Exam., 2018

POLITICAL SCIENCE

( 1st Semester )

Course No. : PLSHCC-101T

( Understanding Political Theory )

Full Marks : 70
Pass Marks : 28

Time : 3 hours

The figures in the margin indicate full marks

1. Answer any two questions of the following :

(a)

®

(©

J9/1087

for the questions

Answer all questions
UNIT—1

2x2=4
Write George H. Sabine’s definition of
Political Theory-

Mention two differences between
negative liberalism and positive
liberalism.

Point out two features of Conservatism.

( Turn Over )



( 2) (3)

i g UnNit—III

2. (a) \fJ‘Vlhat 's Political Theory? What are itS
. J

netions? 5+5 ! 5. Answer any two questions from the

Or following : 2x2=4
) Dism{ss any three principles of (a) What is the diiTerer;ce between sex and
aXism. Is Marxism relevant today? w gender?
+ : a ., .
6 (b) Mention any two types of Feminism.
UNIT—I1 (0 What is meta-narrative?

3. Answer ap.
y two ques - . . ] . :
tons of the following : ox? 6. (q) Critically examine the main features of

(@ What ij5 N , Feminism. , 10
B) Mentiog . e Political Theory? or
: Historjcq) © criticisms against th® . .
© Wit Approach to Political Theory: (b) Write a note on post-modernism in
Poli? two °ha1'a0teri ti - ical Political theory.
tical Theory Stics of Empir?
4. (a) Dis .
Cus
Appmaihm;lfeatures of the HistOfica‘l UnNIT—IV
e i Politicq) Theory. What 5 .
APDroach? ¢ of the Historical | 7. Answer any two questions from the
6+4 following : . 2x2=4
b)) Whay are Or _ '- (a) Write a definition of democracy.

“the mga; . ' .
betWeen No m"‘f‘n Pointg of difference® (b) Give two reasons why direct democracy

Emp; ative polsss . . .
catfgl:l:yal Politica) olitical Theory and is not possible in India.

t
© you €ory? In whe
. pla.Ce ’mo dem poli tic

5 () Write two safeguards of democracy.
6+4

J9/1087 : - .( Turn Over )
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e ——————— e e, e

(4)

8. i
(@) Explain the evolution and growth of

democracy ag an ideal.
|
Or |
(b) What j ‘ .
S I
Substanﬁvl’x‘ocedural' Democracy? 8
ment OVere Democracy an improve
) Procedural Democracy? 4+6°!
o UNrr—v
. swer an
Y two questiong of the following : |
fa) Menti zngd
don the p
Deliberative D?;;z of two exponents of
racy,
ib) Define Politieq) Partic;
9 we 1pation,
R::fe two Methogd i
Sentation, S of Minoi¥
10. (g Discygg th
D ©
CMocracy, Catures of Deliberativ® L
| Or
(b) What is e
'Condition . Is represen”
+ ol democracy? ®

|
|
[
[
!

2018/TDC/ODD/PLSC-102T/046

TDC (CBCS) Odd Semester Exam., 2018
POLITICAL SCIENCE
( 1st Semester )

Course No. : PLSHCC-102T

{ Constitutional Government and
Democracy in India )

Full Marks : 70
Pass Marks : 28

Time : 3 hours

The figures in the margin indicate full marks
for the questions

UNIT—I]

1. Answer any fwo questions of the following :
2x2=4

(a) Mention two features of the Indian

Constitution.
() When was the Constitution of India
enacted and from which date did it
come into operation?
(c Mention two socialist principles from
the Directive Principles of State Policy.

Jo/1088 ( Turn Over )
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2. (a)

()

(c)

4. (a)

(2)

Discuss the m

the Preambje €aning and significance of p

of the Indian Constitution. 1
|
Or ‘
W hat ar
enshﬁnedeinﬂé‘: Fundamental Rights

¢ Constitution of India?

Distingy,;
— between Fundamental !

Rights ap,
d Dirent: )
State Policy, rective Pnnciples of the |
. 6+4=10‘

Who adnﬁnipﬁme Minister of
~usters his oath of

h;:i.nismr of India ‘
18 Powers and
2+8=1O

¢ emerge,,
of Ingjy, Y Powers 10

1

(3)

UNiT—III

S. Answer any two questions of the following :

(a)
(b)

(c)

6. (a)

(b)

(a)
(b)

(c)

1J9/1088

( Continued )

2x2=4
Mention two powers of the Speaker of
the Lok Sabha.
Mention two special powers of the Rajya
Sabha.
What is the Advisory Jurisdiction of the
Supreme Court of India? .

Discuss the composition and functions
of the Lower House of the Indian

Parliament. 2+8=10
Or

Discuss the composition and

jurisdiction of the Supreme Court of
India. 2+8=10

UNIT—IV

7. Answer any two questions of the following :

2X2=4
Mention two subjects of the Union List.
Mention two emergency provisions of
the Constitution of India.

Under what circumstances can the
Union Government make laws on the
subjects of the State List?

( Turn Over )




L4 2018/TDC/ODD/PLSG-101T/047

. _ TDC (C |
8. (@) Indian Constitution s federal in form (CBCS) Odd Semester Exam., 2018

but unitary in aniq '
ut umitary in spjrit. Discuss. 10|
b} Di Or : POLITICAL SCIENCE
1SCuss the divic:
between theedé:::l;n of executive powers ( 1st Semester )
) ¢ and the States.
UNIT*V Course No. : PLSGEC-101T/PLSDSC-101T
90 Answer any tul . ’ .
0 questions of ( Introduction to Political Theory )
the fi ing :
o | ollowing 2)(2’4
(@) Mention (g, . Full Marks : 70
(Constitution) a . T'eS of the 73rd | Pass Marks : 28
(b) What °) Amendment Act '
Seite e the differe ' Time : 3 hours
© GOVel‘mnent in l::;.forms of Local :
. glenﬁon WO e lap The figures in the margin indicate full marks
. Boarq, Nctions of Muni cipal for the questions
10. (a) . '
Df‘s‘ms the comp.: UNIT—]
ot Gram p Position, :
anchaya¢ and functions _, 1
| . 2+8=1" 1. Answer any four from the following
) Or ' questions : 1x4=4

. e
In Asg Auton"mous D

Powers o, CONStituteqs istrict Council | (@) Who first used the term ‘politics?
S and . Di its
f'f'nct'°ps. scuss 21+8’ ( (b) What is the root of the term ‘theory’?
* % {c) Who defined politics as the process of
* .
o shaping and sharing of Power?
J9,1089 { Turn Over )




(d) From which '[
. language is the word |
‘politics’ derived? © |
:
(e) Wthh theo l
_ . Iy refers it
struggle for Power to politics as the
2. (a) Whatij
'8 the modern meaning of politics? !
() Write or
rite an
n°I‘nflativey'<1n:;W n: differences between |
odern political theory "
3. Answer g
etther (q) of (b)
(@) What
signiﬁcan Politicg? Explai e
€€ of politicg plain tl‘:l3 > b
(b) DiSCuS S
. a
Politica] ¢, fUre and gcope Of g
3+5%

(2) !

following
124

© @)

(c)

(d)

(e)

(b)

(8)

Who has given first the concept of
‘distributive justice’?

Name any two kinds of equality.

Who stated that “all men are eqﬁal by
nature”?

Who is called the champion of

individual liberty?

Write any two differences between
negative liberty and positive liberty. 2

Or

Mention any two modern devices of
direct democracy.

6. Answer either (a) or (B) :

(@)

(b)

J
J9/1089

What is liberty? How can liberty be
safeguarded? 3+5=8

Define democracy. What are the
necessary conditions for the success of

democracy? 3+5=8

{ Turn Over )
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I
!

UNIT—III . 9. Answer either (a) or (b) :
7. Answer any four . | .
following : as directed from th€¢ | {a) Define citizenship. How can citizenship
1x4" be acquired? 3+5=8
Lot 1S the so (b) What is civil society? Explain th
citizen™ urce of the Latin word relationship between the Civil Societ;
b Wh and the State. 3+5=8
en didq
UniVerSal DL;I:I Ger}eral' Assembly adopt
aration of Human Right? UNIT—IV
c) « .
si::tti:t;s 2 Partnership of vi » Wh . 10. Answer any four from the following
’ rtues. ° questions : 1x4=4
d 1s
Tght to wopy I fa) Who developed the concept of Lee
political right? Thesis™
() Who is the author of the book, The
Argumentative Indian?
(c) What is the source of the term
‘censorship’?
(d Who is known as the father of
‘Socialism’

o nation is more likely to

(e} “A well tO d
maintain democracy than a poor one.”

Who said it?

J
S/1089 ( Turn Over )
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!
(7))
( 6) |
j*i 14. (@) What is meant by principle of fairness? 2
%l any two types of censorship f Or
Or fj (b} Mention any two areas where State can
(b) Giv j_ . . ilv.
denfo two arguments in favour O©f not intervene in the family ]
Cratic mode] of economic growth !
12. ,
Answer eithe, @) or (p) . (18 Answer either (a) or (b) :
(@) Defi . |
Ine €conomijc growth. Is d cracy T
COMpatible wig, o 1S qemoc {a) What is protective discrimination? Does
reasons jp, suppmﬁftonomlc growth? Gl‘:;+ y protective discrimination violate the
() What j ¢ °f your answer. principles of fairness? Discuss. 3+5=8
-180rship? Giye arguments for
ag Censopap. s gum 343 ]
rship. 2+ (b) What is family? Should State intervene
in family affairs? Give reasons in
UNrr—y; support of your answer. 3+5=8
13,
fAOrIIIi:; T four gy g * k K |
g : dlrected from the 4) .
{a x
) Wheo has termed o 1
®) 15 chilq Maryj Jistice a5 fairness?
age g Socig] evil?
@ Who does Spe ( Write Yeg or No )
St son:
@ Societyr, - Of the famipy, uq ‘the
) Whep, wa
Pas m .
(e) “’I‘hsed N “SHC Violence At
e
earth'§t;;e 1s the Mmay '
Jo; © said jtp 0 °f God upon
10 )
5 J9—8480/1089  2018/TDC/ODD/PLSG-101T/047
( Continliledf
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2018/TDC/ODD/ECOC-101T/042

TDC (CBCS) Odd Semester Exam., 2018

ECONOMICS
( 1st Semester )

Course No. : ECOHCC-101T
( Introductory Microeconomics )

Full Marks : 70
Pass Marks : 28

Time : 3 hours

The figures in the margm indicate full marks
for the questions

short questions (2 marks} and

Answer two
%ne broad question (10 marks) from each Unit

UNIT—!
1. Answer any two of the following : =~ 2x2=4

(a) Define microeconomics.

(b) Point out. two features of scarcity
definition of economics.

(c) 'State two points  of slgrxiﬁmnée of
studying economics. '

/1075 (T )




(2) (3)

2. -, " N
(@) _ () Discuss the Scope of economics. i

@) What _are the two methods Of 3 (h) Explain the concept of producer’s
}nvestlgation that can be a(::lo ted | surplus with the help of a diagram.
a:al ?Xploration in econ:mic What is the relationship between total
be YSiS? How can these methods surplus (aggregate of producer and

Integrateqp 5+2+3‘10_ consumer surplus) and economic
. o Or efficiency? 5+5=10
(b) Dis :
' CUSS the Unrt—III

c
€conomy., Chtral problems of an

that leaq Xplain briefly th rs
to an €Conom; e facto | 5. Answer any two of the following : - 2x2=4
mic problem. y

=10
' 5+5=1" (a) What is marginal rate of substitution?
UNrr—pg (b) Mention two assumptions of indif- i
3. Answer any g, ference curve analysis of consumer’s |
@ e of the followin 2,(244! equilibrium.
tig
demand two determinant . (c) What is budget constraint? Write down |
. . S of individual the equation of a budget line. . |
“hat s o
nS’l_‘[mer, '
© Give 1, S Surplysp 6. (@) () Distinguish between income effect
Supply of g leftwarq shift of . and substitution effect
s | A (i) Show price effect is the sum of the
- (@ Disting. .« income effect and the substitution }
Schedye een, effect. 3+7=10 ]
Explain o Darket ;:;”;Et demand or
deriveq A Markes 4. LY Schedule.
: t
Jo from diﬁdualgzmand curve is (b} What is indifference curve? Discuss its-
/1075 ‘ Mand curves. ; properties. 2+8=10
467" | Joy 1075 ( Turn Over )
( Continued ’

|




(a)

(S)

Distinguish between direct demand and
derived demand.

4 l

L 4) :

)

UNIT—TV { UNIT—V
7. Answer an XPER |
o two: ° f-thf’-fOll’owing . 2"25‘” 9. Answer any two of the following : 2x2=4
\
\

(b)
{c) Define anti.

8. (@) How

an L4, i
be .. “AC (long. 1o,
averiel:ved ffo( -nfhrpn average costs) “
: ";,UTSh: cOsts)? Whe SAC ‘ (short-run
. Shapedp . " Yy is LAC curve
ol ’ AU 7+3=10
(b)

( Continuied ) |

In land market, why is the price of land
demand determined?

Show the relationship between marginal

product of labour (MP,) and marginal

revenue product of labour (MRP, ) with

their meaning.

What is competitive labour market?
How are Wwages determined in a

competitive labour market? 2+8=10

Or

s on the following :
5+5=10

in labour demand

Write short note

(i) Causes of shifts
curve

(i) Public policy and the changing
jabour market

* & Kk

Jo_
- S10/1075  2018/TDC/ODD/ECOC-101T/042




2018/TDC/ODD/ECOC-102T/043 |
. | |
TDC (CBCS) Odd Semester Exam., 2018

ECONOMICS | ;

( _lst Semester )

Course No. : ECOHCC-102T
( Mathematical Methods in Economics—I )

Full Marks : 70
Pass Marks : 28

Time : 3 hours

| The figures in the margin indicate full marks
: for the questions

Answer all questions

Unit—I

1. Answer any two of the following : 2+2=4

1 (@) Find the truth values of ~ Pwhen Pis T
and Pis F. S

~ (b) Find the following :
‘{ i) AUVA’
| (i) Ano
| (c) Write the two roots of the quadratic
1
|

- function ax? +bx+c=0.
1J9/10
76 { Turn Over )




- § B s
T e

(2)

2. Answer either (@) or (b :

@ (@

continuous at x =3 -

(i) In
cri;c:tla:: of 96 students, 50 play
footbayy %32 play cricket but not
* Vetermine through set

algebra

who playtte Number of students
and the m?h cricket and football;
play footbaumber of students who

» but not cricket.

®) g
Sl?: STUCt the  gruth for
o
N statements ' table .
, Dr~lpvg *Y (prg and 4
’ li) COn ) |
fré.c‘{ert- the follow; i . :
tional forp, . g into their
1-6666.” ! 0 3
1:222...
UN
3, I
Answe, v 1t |
0 of ‘
(Q) Give on, the fouOWln 2+2¢“
Ction ple €ach |
J9/10 Ch of an explicit |
76 Plicit function, i
|

(3)
(b) Draw a free-hand graph of the function
_1
x

What is the nth term of the following
series?

fc)
2 6 18..

4. Answer either (a) or (b)

(@ () Calculate the sum of the first n
natural numbers. 5
(i) If a, b and c are three consecutive
integers, prove that
log(l +ad = 2logb 5
) Find the sum of the following
. series : 5
> 12 422 4... +92
(i) Discuss the convergence of
1 3,5 4w
1'2~3+2~3'4 3-4.-5 5
unrr—IIl
5. : . _
Answer any two-of the following : 2+2=4
(@ Ifys= dy.
Y = f(x), define T
o 1076 ( Turn over )



6. An .
SWer either (g) or g
@ ) I x o g |
d y=2¢t, fing W 3
& Wit
e
:.Zixim outan;he COnditions of
Ction y - fix) Minimum for the g
2 + y2 4
t val’Ue' Of x the
Maximum of |
+36x-20 f
&imum and p

er X“e?y §
Partig; - nd all the p

( Continued }

(S)

UNIT—IV

7. Answer any two of the following : 2+2=4

Show graphically local and global
maxima.

(a)

If y=f(x) is a function, write out the
condition for its convexity.

(b)

(c) Determine whether y=1+2x- x2 rises,

falls or remains stationary at x=1

8. Answer either (@) or () :

duces an output of x
tonnes of a certain product at a
total cost of ¢ = x3 -4x2 +7x. Find

at what level of output average cost
jmum and what level is it? 5

(@ () A firm pro

is min

(ii) The demand function of a
particular commodity is y =15e™*/3
for 0<x<8, where y is the price
per unit and X is the number of
units demanded. Determine the
price, and the quantity for which

revenue is the maximum. 5

( Turn Over )



(b)

)

(@

(6)

'ch‘he cost function for producing
umts of a product I8

O = x2 - 122 +48x+11 and the -

revenye

R=g3 function is
for Wh’: 4x? ~21. Find the output
find thCh pr?ﬁt is maximum. Als©

e

! -pl‘17

tes are complementary oF

-0-2
05p2

Pisamix2_

Y

i T

(7)

10. Answer either (a) or (b):

J' (a) Find integral of the following functions :

3x+4
i J’6x+7

(iii) leog xdx

i

| o dx

| W IR
|

G

i) If the demand function is
‘ p=35-2x-X 2 and the demand x,

3. then find the consumer’s
is ’

surplus.

* & K

! J9—510/1076

x 243=5

10

5

2018/TDC/ODD/ECOC-102T/043




AT L

A
2018/TDC/ODD/ ECOG-101T/044

TDC (CBCS) Odd Semester Exam., 2018

ECONOMICS
( 1st Semester )
Course No. : ECOGEC-101T/ECODSC-101T
( Principles of Microeconomics—I )

Full Marks : 70
Pass Marks : 28

Time : 3 hours

The figures in the margin indicate full marks
for the questions
|

UNIT—I

f the following :
1x4=4

1. Answer any four questions ¢

(aq) What is economics?

(b) Define scarcity-

(¢ What is opportunity cost?

J9/1077




(2) | 3) 1

' . i of the term
(d) Define market equilibrium. (c) Explain the meaning

indifference curve.
(e) Write the

capitalint. (d) Who invent the concept of water-

Mmeaning of the word |
i
\
\ diamond pa.radox?

2. (@) What is elastinie.. -
detors elastncxty of demand? Write on¢ 4 ' il
Inant of jt, 1+1% () Give an example of time U ty.
. : Or
(b) What is gh- . : , characteristics of
~ the shape 1:}111 demand curvep What is g S. (@) Explain any two , 2
market demand curve? 117 indifference curve.
3. (@) W .
vat;:)t 1S economj. system? Exolain the or |
US types xplain p , f ‘consumer
€conom; +6%" ncept ©
fmic system. (b) Define the © e 2
Oor surplus’ with an exampr: |
b) E :
m’_‘plain the tp,
thrth Suitap) Y of law of demand ' t of income effects
ce 1irni'ca.ti'o &ram. Mention any 8 6. (a) Discuss the concep :th suitable
7 of this law, 5+3° and substitution effects W1 4+4=8
| diagram.
4q UNIT\II '
l.l" Questiong of the following 4 theory of law of diminishing
@ Define ... 1x4% (b) Explain the '/ ; roper diagram.
€ Utility .1l utility using p :
' : $artg11;ny WO assumptions of this Ia\w.6+2 o
Price lin cconc.
Omijcs?
Jo ( Turn Over)
( Continued | /1077




(4) (5)

UNIT—i11 Or

the shape of long-run average

7. Answer an
y four Questions of the following : | (b) What is '
owine 4=4 cost curve? ‘Long-run average cost
(@) Define cost of 1 curve can be derived from the short-run
Production, average cost curves.” Explain. 1+7=8
(b) What i ‘ ‘
(c) Giv € ! uNT—1V
€ an exs
. ple of total ﬁ_x '
(d) What jg th ed cost. 10. Answer any four questions of the following : -
1x4=
su hape
PPly curvep of short-run indust { L
(e) & i {a) What do you mean by ‘production’ in
€ What j ! _ :
S Profit : economics?
Maxjm;
1zation? . ,
8. (@) Dbi (b) What is production function?
IStinguish
varig bet“I . . teChn olo y?
ble cogt, R fixed cost and () What is choic® of
or ‘ 4 (d) Define jso-quant.
(b X :
) Mention fe) Define returns to scale.
aver any

0 relas:
Nue and nflatIOns between
line assuming two

ar .
8lnal reyenue. 9 11, (@) Draw an 50-coSt
on | factors of production- 9
€s of |
£ econonue:::e' What are the | or
2*6’5 (b) What is producers surplus?
}? J9I1077 ( Turmn over )




et ] =T e e T

(7)
(6)
' tions of perfectly
12. (@) Graphically explaip e | - 18 (@) What are the 80 ustrate _the
proportions € law of variable g competitive ma;‘ erfectly competitive
| | characteristics of P 4+4=8
- Or « market.
(b) 'Explain in g |
detaj !
teristics of ISOfézﬂmtany four charac- g Or
curv: s industry
) (b) How do competitiv firm and lrleriod?
U ) ilibrium during long P
NIT—vy _ attain equ f diagram. 8
13. Answ Explaln with the help ©
- er
any four questions of the foll
ollowing
=4
(a) Deﬁne Market 1x4 & kK
(b) What is |
undey pe:fh © shape of dem : ' ‘
© Wi s . ect com etition anl:l curve
c Q) is thll market?
. e con ti )
durin on Of e eq.
g lon qQuilibrium of a
Ci See
) OMpetition 8et§ °d under perfect
( ) W.hat is incre in
(€) What i8 ng g cost industryp |
Mal Price?
14, (a) 'What' .
asic Conditions of f
Under ~ perfect
2
Perfectly : 44
| 101T/0
99263071077 2018/TPC/ ODD/ECOE

( Consimeror ) ;



2018/TDC/ODD/PHIC-101T/051

TDC (CBCS) Odd Semester Exam., 2018

PHILOSOPHY
( 1st Semester )

Course No. PHPHCC—lOlT

[ Epistemology and Metaphysics (lndian)]

Theﬁguresmthemargmmdwateﬁzllma,- >N
Jor the questions \ L

Answer all questions

UNIT—1

1. Answer any two of the following questions : 2x2=4

(a) Write  two distinctive  features that
distinguish Indian Philosophy from Western

Philosophy.
(b) Write names of Saddarsana.

(c) Is Indian Philosophy pelssimistic?

ng
| /los4 ( Turn Over)

i | _ o '“

Full Marks : 70 X,

Pass Marks : 28 &) S
T &/ LIBRARY |

Time : 3 hours JNo. |



2. Discuss Indian’ conce
fatalistic?

3. “The mﬁmte is not pe
finite.”

(a) What accor

Pt of Law of Karma. Is it

8+2=10

eyond the finite, but in the

ding to (o :
elements of mate, ? ¢ » are the basic
ﬂﬂ 3 :
What doeg Anekﬁmavada’ m
e ean?

° 18 the valiq source of

2 Prove jt9

( Continued )

l+9=10 |

7. Answer any two of the following questions :

19,

Jg / 1084

(3)

UNIT—1II
2x2=4

{2) What are the Four Noble Truths °f
Buddhism? ' -

kb) What are the eight-fold path (Astiﬁglka
Marga) of Buddhism?

{c) 1s Buddhism atheistic?

of dcpendent

Discuss Buddhist doctrine 10

Origination (Pratityasamutpada).
OR

. ‘ 9 Discuss
Does Buddha believe in permanent soul 10
Cl‘itical]y,

- - X /.=
Answer any two of the following questions

dge,
fa) What are the different sources of knowledg
according to Nyaya?

- tedb
(®) Name the categories (Padartha) accepted BY

Vaidesika system.

gnumana and
Distinguish between Svarthanu

Pararthanumana.

( Turn Over)”



11.

12,

13,

14.

18, p;

and its class1ﬁcat10n

OR

Dlscuss after v
aige
non- emstence (Abh:\:lz:;l *ystem, the category of

TWarded by Samkhya
stence of Pllrusa
WO aspects of Mays
DiScusS sa y

mech, 2 theo,
anica)9 EXp] o1y of evolution. Is it

8+2=1
O

Discygg Advai v R
e

Ty of perception (Pratyaksa) ;
1

2:42’4

an
ta Concept of Brahman. 10 :

2018/TDC/ODD/PHIC-102T/ 052

TDC (CBCS) 0dd Semester Exam., 2018

PHILOSOPHY

( 1st Semester )
Course No. : PHPHCC-102T

( Logic—T )

Full Marks : 70
Pass Marks * 28:

for the questions

. ety
TR

Nt

Answel' any two of the following questions :

L T8
AN

2x2=4

(a) What 1S loglc‘)
®) Wl‘lte any- two charactenstlcs of symbollc

(e GlVe examples of vari ablcS and °°nsmts‘ .

fa,
(a) Explam bncﬂy thc natuIe of logic
tof truth
(b) Explain with examples the concep s
o and ‘validity’. R
,‘1085 ( er)



(2) (3)
OR - \ or O || RN ¢
3. (a) Whatis an arpymepss ! 7 Answer any two of the 'f'(r)’ﬂ(")\\j'riﬁg‘r‘iiﬁésiﬁon‘s 3 2"_‘254 |
(b) How does an ares: (a) No men are perfect. (Obvert)
f argument differ fr ent , i emises
orm? Explain wi om argumet™ (b) When does the fallacy:of negative.pr
With examples '
) occur? e ,
. UNIT—) (c) Mention two special mles*ofmeﬁrst-ﬁgurew | ,
- Answer any two v i e oy v
(a) N (.)f t#e following questions : 2%, 8 (a2) What is syllogism? What ‘are ‘ﬂfe les ;f6 8
AME tWo kinds of clementary o | syllogism mentioned by I. M- CoP!? o S |
() What propositiofh: 1 p .+ 0 ods of thifd figure: |
and Kind of gppoeic ) Name the valid moo ’i
o Propogit; On exists between A OR |
Propositiony % and A and B | o i¥
co % Us . nnique to test the validity |
() Give , . : ¢ Venn diagram techd%® = o onts’ and
dlass XaWples of g | and invalidity of the folloWi" argy 515-10
Temberg ip Meral proposition and | name the mood if any ‘ |
Propasiion, @ oman
‘ 1
| ) 0A0—3
; :
3 ]V
les diff, UNIT—
erent kinds of | 1 L ox2=4
on E‘ o Answer any two of the following * .
(a) Construct truth table of implicative function.
long] Square - 4 (b) If A and Bare true statements and x and yart‘;
e of opposition. | false statements, getermine the truth value 0
fro; . | -
°M Atistotelian view? A the following expressio” *
o a aox 2625 hod?
, (C) w-h . tio 3d absurdum metho
ed"l Jg, loss at is reduc (Turni O i)
( Contint ‘




(4) (5)

d ‘ UNIT—V
11. Use truth table to ‘Characterize the following | .
.. . Statement forms

; oo 2us il AUtologaus, contingent . of 0
contradictories - 21, x4=11
Litaediy Y e ORI

TUT L

‘ A | ' al proof of validity? |
) (PDQ)D[';-‘-(Q.I-)D-,;(PP)] L (a) What is formal pr

13, Answer any one of the following :

e rules of inference are . al
i D.p) (b) How many elementary \ |
(u).,-;,(-E:Q:}?L?;[f"s.p.@(q\.c'#q)i] g there? Sta);e the rules of modus ponens and 1
!x‘f?.Pi;.I?'JP)‘:*;.JTn v, o B modus tollens.

I
e
O A ST O

(iii) ‘(PDQ)\.E

. :q)l)':)'[\ﬁ'g" R {c) State the rule of inference by whi.Ch lts 2K n
) &mep)m_:_ . \ conclusion follows from its premise :

12. "ilhi;:j'»’ PATEI FEI N g

ek e 2 .
E“?“p‘!al(lilﬁgl(%ﬁgr'truth-tal‘}b e "i"k A f e DVE
ay t»m}h-tableteéu _:ilie,‘t,l:efte’c.hm ‘l.le‘,}ps‘c.shortcr,
the following ar en‘: det‘?‘;{{l'ilgle Whethgl-‘ or 1,107-. 10
Sarevalig. .
valid : » ~.i,4;+3=:3$

| i the following
14, Construct formal proof of validity of 214x4=10
arguments : A

A We go gy N _ rm ang the;'ski' is cleat’

at i+ ,g;and.. € go boating. It is oD
18 clear then we go

-""W::m; LT #ithe, Weather is not A AvC

LR S PR '\L'.i\ o (A'B)V(C'D)

(i) ADB

2

i) MVvN
~M. ~Q /,'. N

feul -

: . Q‘Ol\ ;ef' )'r:
( Turnt
99y 1085

( Conﬁﬂﬁéd?



(:6)
(iii) ADB
Av(C-D)
~B -~E 3] ) ]
o of .
v) A L
B/. tAv() B
15. (a) Explam:h "“”‘4*--21,‘
.,,.,“;,‘ & : R ES SRR
validity i :-ngouance,offo e
deductj evelo ormal proof of
o -PeENt of the method of
: od O
(b) Stat
€ the ry)
SOVAGE . g Infere .
- 5\%.}.( oy (L] J?;f)if’- .3 nce w"th exanlplcs
BRI N
*** Y osiLEYT T
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PHILOSOPHY
( 1st Semester )

Course No. : PHIGEC-101T/PHPDSC-101T

( Logic )

Full Marks : 70
Pass Marks. .28
Time : 3 hours
The figures in the margin indicate full marks
for the questions
Answer all -questions
UnNIT—]I
Answer any four questions 1,x4=4
(2) The word ‘Logic’ i derive
Greek word?
(b) What kind of sc
{c) “‘Logic is concer™
and material truth-
(d) Can validity or invalidi
proposition?
(¢) What do you mean bY

d from which

ence Logic is?
ed with both formal truth
» s this statement true?

ty be predicated of

the term ‘validity’?
( Tum over )




(2)

2. Answer any one question :
(a) What is an argument form?

(b) When an argument js invalid?

=8
3. (a) Explain the fature and scope of Logic. 4+4
Or
(b) Explain the relation between truth and
validity wit, €Xamples
UNit—pg
4. Answer any foyr questiong I‘X4’4
(a) How many  termg are in a
proposition‘?
(b) Whay 18 the symp i
ol of yp; tive
Propositmn‘7 | ersal e
e
lc) Giye
v a‘ Symbo)jc “Xample of Rarticular
tmatnve pro ition,
(d) Which t :
. distril ted in particular
Negative P Ositiony - d
(e) Il]ustrate
Class~mernbership Proposition
J9/108¢

——

(3)
s. A :‘ itions are there
si
kinds of oppo s are e
7 'ntla:zian square of opposition:
in Aristo
them. i
ition?
(b) What is a general proposi )
t are i
jtion? Wha "
is simple proposio® i
) “ d""llfl;at :1St j fol:'ms? Explain Torseg
ere
examples.
> position
f op
i (b) Explain traditional square © %
Xplain
with examples.
UNIT—-—IH v
7 Answer any four questions : »
. nce’
(a) What is.immediate infer®
rsion.
} (b) State one rule of conve o men e
| ( the statement, o
‘ ¢} Convert
‘ perteer” are there in the
f valid moods
. (d) How man y
| o
’ S Fe First Figure.
J (¢) Name oné valid mood of
H am
‘ over )
| m



(4)

2
8. Answer any one question :

(a) Obvert the following :

() All mep are perfect,

i) Some men are wise,

(b) Contraposé the st

. e
atement, *“No reptiles a
warm-blooded

animalg **
9. (a) What is
syllogism?
Categorica)

fallacies arisi
Tules,

standard

form catﬁgorical
State

f
Copi's six rules ;’c
Syllogism, and name t .
out of Violation of th6;+6¢
Or
validity or iny

alidity of:, the
Algumen;g
echnj

4+¥
(i) SOI.ne refo

Tmers are Philosophers, 50
SOme idealists

are philosophers, smce {
refol'mers are

idealjgys,
i) No Indiang

Indians are
Teeks are not

are

18, therefore, some |
ans,

"l
( Continué’

bY means of Ventt ¢

Greeks but some !

(5)
UNiIT—IV

. . s :
10. Answer any four question
tion?
1 for nega
: is the symbo
(@) What is |

: ?
(b) What is ideogram

110 “
(c) What is variable? - i j
. mplication!
What is the symbol of imP
) a - t is the
‘then wha
q is false, the
(e) If p is true, B
truth value qf pq 2 1
jon :
- Answer any one questio S | ‘
| ize the follow™® students will 1
(a) Symboliz e -
i) If papers .
m - e the match or
i1 win
(ii) Either India will
ii 2
Pakistan will
Py
ction:
(b} What is truth fun - N

11084

ﬂ‘ u'



(6)
12. (a) Use truth  tap)e t
. o
followm.g Statement form
Contradictory o Continge

characterize the

s as tautologous: i
nt : 44’4

e (" [(PDQ)'(qu)]D(pDr)
o 0 Pogvipay)

. ' ;tﬁ‘ Or
(b) l’jse tl'll

k '-inVali(ﬁttyh ;t:: to determine the validity O

e following argument forms © 4

(i) g

V PO q

. 93p

(ii)

(7)

1 .
4. Answer any one question :

150

(a) State the rule of hypothetical syllogism.

(b) State the rule of constructive dilémma.

(i} State the justification for each line that
premise for the following

(a)
is not a
arguments :

1. NDO

2. (N-O)>P

3, ~(N-P)/~~N
. No(N-O

4
5. NOP
6. No(N-P)
7

. ~N

Construct formal proof of validity for

the following argument :
DoC
(Do B)> (AvC)
(p-C)> B
~A/~C

(ii)

( Tum over)
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(b) Constru (CBCS) Odd Semester Exam., 2018
) . ct formal proof of validity for the
ollowing arguments : r =8
() A-B 4+4% HISTORY

(AvC)oDy .-
)oD/: A.D ( 1st Semester )

Course No. : HISHCC—IOIT

(i) Wox
WoY)>(z
(WX)DY( v X)
~Z/.X

e——

( History of India-T )
|

Full Marks : 70
Pass Marks : 28 b

* % A
Time : 3 hours

for the questions ;
I

Answer all the questions

unit—1

1
2x2=4

- An )
Swer any two questions :

| . . <3
o Name the authors of Rajtarangi and

‘Mudrarakshasa’ -
archanlogical S

b urce
) M‘3nt:ion two ° s of

ancient Indian histo™:
(0) Who were the authors of ‘Indica’ and
‘Harshacharita?

/
log, ( Turn Over)




(2)
2.
Answer any o
ne of th §
e foll i
(a) AnalyS owing
e
history the sources .
of ancient Indi®®
b) Gij
ve ag
“Hace
of hlStOry ount of early Indian potions
3. Answ UNIT—pg
er an
y
@ Why fwo Questiong o
t is
Ment: th
Inel}tlo ne mea_ning of ‘ 7
dia € site of p ‘palaeolithi®
®) N alaeolithic Age ’
(© e o toolg of
Name Palaeolithic Age-
Indjg_ Siteg of
4, Answe, ‘ Mesolithic Age in
any one of "
@ Forg © following . |
i ests .
s‘ulis- useq 1. Peci aeolithic cultw’® |
Siste Pala.. Crerence to the
lb) Gi aeouthic fof
Inlve men
dia = 2Cco
J9,1°8 unt of Mesol:

——

(3)
unrt—IIl
5.
Answer any wo questions from the
following : ‘ 2x2=4
(@) Who first coined the term ‘Neolithic?
Mention the name of one Neolithic site
in India.
(b) Name two characteristics of Neolithic
Age.
(c) Did ‘the people of Chalcolithic Age
which Age

60
Answer any one fro

(a)

(b)

7. Answer
following :

(a)
(b)

(c)

J9/1081

ddess? To

worship mother ‘Go
culture belong?

did Ahar and Jorwe
m the following : 10
Review the main cha.racteristic
Neolithic culture in India.

Give a vivid description of the basic
features of Chalcolithic Age in India.

yunNr—IV

" from the

questions
ox2=4

any two

Name two sites of Indus Valley
civilization.
Name two f€
the people of
Who excavate

Harappa?
{ Tum over )

atures of economic life of
Indus Valley.

Mohenjo Daro and




ﬂ
e ——

(4)

8. Answer any one from the foHOWing : 10
(@) Discuss in brief the System of town
Planning tha Prevaileq during Indus
Valley CiVilization.
(b) Trac.e the Clrcumstanceg leading to the
decline of Indus v €y civilization
UNIT*V
9. Answer two
u
following . Questions  frop ﬂ;eng 4
(@) :Zh;:ed% thfe word veqq’ mean? What
Veda? 18 of ‘Gana’ ip the Rig
(b) Name .
checy, on tltutxons that acteq as a
early Vedlc A u tho of the king in
(c) Name
tw Pics of later Vedl Age
10. Al‘lSWer an
ne from the f0110w1ng 10
(a) Reviey, € Sou
- Vedje Age, Clo- Conomje life of early
(b) Give ount ’
M n . )
of late Vedic Agoet: © s0(310-politica_l life
* ok
J9~340/ 108,

L

27/075

., 2018
e (CBCS) Odd Semester Exam.,

HISTORY

( 1st Semester )

102T
Course No. : HISHCC o
tterns
tural Pa
( Social Formations and Clll

d)
of the Ancient Worl

Full Marks : 70

Pass Marks : 28
Time : 3 hours

T in the margin =
he figures mfor the questions

;ons
Answer all the questl

unir—1

2x2=4
1

, ions °
* Angwer any two questio

() Define prehistory- history?
to
(b) What do you mean by Pro _
at do y

-+hic sites:
(c) Name any two P‘.ala over )

(s
J




y%% =SS IS S e

| ’ e ‘.
|
( 2 ) (3)
i 2. Answer an
f Y one
k of the following . f UnNi—III
(@) Give a bri
nef . .
culture, account of the palaeolithic S. Answer any two questions from thzexz___‘}
following -
€ the . )
Mesolithje cultur:fm features of the (@ What do you mean by pyramids? {
UNIT— d ’
Swer any g, one pharaoh. ‘
© Questiong 9 <9 ‘Pharaoh’? Name any
(@) Whq . 10
t .
‘I‘leolith?c? YU mean the term ® Answer any one from the followiné d
o age? N y e te owth an '
Site. ame any one Neolithic (@) Give a brief account of t?:ngr art and
®)  Whay is th development of Egypth
' hun, ° Scienti architecture.
be; 1C n,
which Cings? N . :.I:e of modeIZ () ) fH nmurabi’s Code
age. Ostly ysed : y one met Form an estimate 0
®d in Chalcolithic of Laws. ,
unT—IV ’1
- . . {
4 llowing - :
0 " Answer two questions from the fo 2x2=4 {
. . 1
: the words !
timate (@ What do you mean by
of Neolithic culture 10(‘ Janapada’ Z_nd ‘Mahajanap ada’” }
f | . : .’
the gowth and - ) N ame any two Maha_]anapadas . |
hre and animal { dox sects w};:‘th ";,
alcolithje age. ® Name two Ort!’o during the s I
5+5=1" emerged in India ¢ f
century BC. ( Tum over ) !

y J
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- T/076 i
(4) 2018/ TDC/ODD/HISG-101T/
' : ' .. 1201 i
8. Answer any one from the following : 10 TDC (CBCS) Odd Semester Exam., 4 18, 1 \
(@) Trace the circ ' : T B I
. umst . ‘ AN 1
riee of Magadha, ices leading to the 10 HISTORY - = 11
(b) DiSCl.ISs in brief . o ) af LR N ‘?
teachin ® about the life and ( 1st Semester ) |
88 of Gayt =10 eI
ama Buddha. 3+7 . <101
. ) DSC101T
UNIr—y CourselNo. : HISGEC—-IOIi( HIS' e 1{
. C Timef ¢
9 ] Answer f0 Questiong g . \(_History of India frox(n E‘iujne“' v fﬂ RA
om the following : b | SRS up té"SOO;QE ) i \@0 &;(
B zx L ‘ A 4 r
(a) Na-l'ne any two City O . ;
m anCient G ece -states Which existed M% i
' (b) Name ) Pass'Mafks :', .
! two hlstorianS -
* {¢) Nam of ancient Greece Time : 3 hours !
| | € two bOOks auth, . (o ;'ndicate _ﬁ,tll marks ‘
i 10. Answer 4 °red by Homer The figures in the margin ¥ s B ?
| Y one from for the question= .t
‘ (a) . the foyq 10
; Review Arigtoqy wing 1t questions |
e's th Answer all quét :
(b) Reviey, " €ory of slavery. : S o |
ancient g tura] Contribution of UN}Tf'I
1 o - ions  frof® the 4=4
ol | \ " Answer any four queste X
& .o e igraphy !
‘ @) What do you mean by P authored? |
astrd . ;
V () By whom was Arthash g 'ev‘age be 8l
| the Stone. |
i

In how many parts can
divided?




YOV TED e 2
NP R s et KRN i hy s -
3 y; 2 ¥ o \‘s.!'(b_ \'.)iﬁ -

PPN
AT SUNY

) 05
(@ Nariie: e gy of Meolithis ‘Sge. !

(e) From why
ch
come tg Int'lle':‘;m'u-ltry did Hiven Tsan®
2. [
@ What s Pre-history» ‘
) o
What do, oy, i unde
lf’ala.eohu11 erstand by the word gy
3 (a')ﬁWnte a note WAL it
P Tt e B sources of ancient |

.»'s

(b) . Throy, Lo

' cultures in Ig:llt‘ 01’1 the palaeohthlc §
9. Ani:v.'er‘“ ' UNIT\H

follgyer,. 1Y M

ollowin, Jour ‘queStio‘ns from  the

"‘So (a)

(b)

ORI
6. (a)

5

.. Answer
fouOWIng

-Narme two i variatio
"‘."1551'5"‘ ’ ! Yoo \)Ibv"'.

Clvilization 31mated in In,dla. Sl

( 8)

. paly 3 P B .8 *
ns' of "*"i:'Ha"léohtfﬁc ) ‘

Culture in India._;,: ‘[

Y m
Sipd e pog W By

an
Name two sites of the Harapp““\ o2 |

R R thic
Write a note on tﬁe fe fures S of neoh g |

culture in India.'"

RPN
‘N“‘.N“‘ it
At by A S

.t . NG YIRS iar -
ot [N DR XSS LR
N A

Dlscuss the towrl-Plam“nr1
the Indus Valley Civilizatio

3 ‘

‘(“1' g'

system of

UNIT—-—-III K

;’)Q

§ , thF
any four questxons frpn;lw ¥ 4t

L O S
IR % n:‘i?“" =)
PP LS

’(a) ‘;\fh;t ;:;rpe c')’f ::Mllzat‘»‘?? was B8 6 VoRe
" civilizafion? " et

(b) . What was the baSlC umt OW.M\ ‘
society? RIEICIETa e

{0 ..,Name the oldest Veda BEETL
(d)l | Wheréilwas Mahawra bom% o’

is séfmb

(e)

Jg,

s R
Where did: Buddha ‘Pfeacn
for the first time?

(‘ m;',ﬁ@t}éf")’

"



¢ —pr ——

@

8. Menti
. °n the names of twe Janapadas
or
(b) What ar '
e o ’
the two sects of Jainism?
9. (@) Discyye .
ﬂ:ﬁfif Soclo-economic condition of
4 el(:peﬁd 4447
Or.
(b) Make
: “teachinZ: :sﬁmalte of the life and §
G T O Gautama puggp, 3+
UNrp—; |
10. Angwe, an ‘];IT‘.‘IV
. followii . Jour .
(ta) Wing . ... Questiong from tbi"; 4;4
When g; |
(b) Wl’uch Al "der Invade India?
Alexy, Ndiay, rler
o der? °r .did = oppose
Cha:x};r Nanda rype;
@ “SUPta Mauryg,  defeated bY
Whowa the gra . S
Ar. and
fe)- GRS soar,l *f Chandragupta
By whOm . N . .

(5)
1 oy i )
@) Which incident did change the'mm‘:i‘: |
Ashoka? What change was brough 2 -g
his policy? o
V I ' Or‘w e ) ,-“.11‘,:.:)) b
" () Name' the' emissaries appointed ¥
Ashoka for preaching his’ conceP 5
Buddhism. L s S |
I - h TR r’s
2 {a) Discuss the effects of Alexsnde 8
invasion in India.
or (et A :‘
. . el ¥ a
) Write & riote  on “the '}“p{[‘aury 8
administrative system- * .. ..
UNIT—V
13, the
AnsWer any four questions from 1 X4=4
f0n0wing .
word
(@) What is the meaning of the
(b) Which language Was :sed in
literature of Sangam ag° .
ring
(c) Which school of art did develop du
the Kushana period? .. the
9 I which part of Indie 4
Satavahanas rule? of the
Who was the greatest ruler
Satavahana dynasty? o




(6)

14. - (a) .«Name two Kushana rilers.
. savte oo Or R

{b) Name two inscriptions which are the
. Sources

fyer, KRS
3avahana dynasty. '
U RN IR
15. ‘ ka as a
(a) ﬁ:sess the role of Kanishka as a patron
Zkil“‘,}i%t\;\ and culture' ‘

for the history  of "

'
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SANSKRIT

( 1st Semester )

101T
Course No. : SANGEC—-IOIT/SANDSC_

( Sanskrit Poetry )

Full Marks : 70
Pass Marks * 28

Time : 3 hours

8 T ﬁ.!u m
The figures in the margin 11.1dlca{6
for the questions
Answer all questions
UNIT--—I 1x4—4
1
Answer any four questions : e
c ¢4
) Who s the authof of
I Raghuvarhsam? b e
) What js the sourc® of
Raghuvams’am? n b
re
) How many Cantos 3 the |
| Raghuvamsam? )
£001y
0” ‘ 074 Tum o




. AnsWel-
any ope question of th

(2)

(d) Wha i the ¢
e of
RaghuVMéam? of the SecOnd Canto '

(e) Name the ¢

Ragbu"ams' Ommentary of Mallinatha ©O°

.

(@ e following :
a whO is Val-
Sistha 9 .
of Vasistha 4" Name the sacrificial co¥ ‘

(b) wyp ;
1y the e
cow? King Ditip followed the sacrificie!

. to English . v ”

‘ (q)

Jy
/
g logg

R R SRR o Wttt

(3)

Or
©) (i) «oxt e Atferd GREFL
Who is TRsRyee? Why I she

compared to §fd? Who is'comparfcclir
to 4fi? Give Sanskrit equivalent 0!

4
7 To
What is meant by m@ﬂ:«’qwmt
whom TSI was uttered? g
s
purpose was served by the 10 e .
the birds (Fadi f:)?
unit=—II 4
1X4=
Answer any four questions :
@ Name the queen of king Dilipa-.
(b) Name the mother of Nandink

(C) Who is Kumbhodara?

Name the wife of sage Vaéistﬁa-
(e) .




(4

Answer.
T-any one of the following questions :

(3) ' “3'{33', : . aﬁv[’ ’
Whose words are
Spoken?

lb) “m lﬁ’ I"ﬁ{qgﬁ.”

these? To whom are thes®

- (a) "Give . ‘

an aoc . . )

ot Ofking’s service to Nandin®
Or

SPoken? lll;:umstances were thes®

Uiy,

7- An
T an
Y four Questiop - .

N Who is the

" very short form Agr
|
|
|
|

(5)

iti hari.
(c) Name any other composition of Bhartt

nt of a
(d) What is the permanent ormame

person?

; ) with
(e) What type of person IS compared

snake?
2
. jons :
8. Answer any one of the following questions f
. an ways 0
(a) According to Bhartrhari, ho¥ many
wealth are there? sy
be
(b) What type of person caan®!
satisfied? .
> Answer the following questions *
Either . o 4
' | ing or FAI:
(a) ‘What are the qualities of 1eam1P_g ith
of association 4
(b) What is the result
virtuous persons?
Or ,
' ' the
| . who ar®
{c) According to Bhart!'h:n’ I 4
animals in human form: 4

(d) Elucidate : |

(m,,iomrl

e e




(6) (7)
UNIT*IV (i) ofaEfify ¥R I AT qEdl
10. CEl ngﬁ't{ll
0. Fill in the 83ps any foyr of the following 1 x4=4 ¥ wEY I w9 il
(a) . Or
. IR, e frivg . R — 8
) IRT i Ry | (b) What do you mean by ,
(c) o
\m%ﬁﬁw@m UnIT—V xand
() Ty e , o Ixds
q i i — " B. Answer any four of the following questions
le) T3 ampy \
T . g =ty T ?
11 =¥, v — Tiafy @) Who composed Kirdtégjunly2” ic
. €pic,
Answer any ope of the follow; 2=2 ) What s the source Of the P
n x2=
! (a) Translate into g glish ) 1 Kiratagjuniyam? ' e in
: er
| Th the following verse (¢) How many Cantos 3¢ th
| ’ o - R, Ny qsﬁ R { Kiratarjuniyam? o of the
. : j 2 e . an
| Bive two sz krit eqy: ! &) What is the title of the First C
o U equlvalent 1 ’ . . PP - 2
L e g "ot °pic, Kiratagunlyam fyam
! low, , jrataruil
| | "8 Questiop, 8 ©) Name the commentary o7 Kir?
| (@) Try, Either composed by Mallinatha- - 2
| Slate iy, 1 jons :
Englisp, . 4 . question
(i) gy L] euh 4+4 Answer any one of the following 4 nich word
TR v ith which %7
L T un J T I, T T f‘ (a) The Kiratarjuniyam staﬂs.m » mentioned I
r ﬁ%‘ﬂ} T T <ofys ’ is ‘Kirata m
| TRy, o ST Mg g W or ‘well’? Whols ©
} Qﬁq% E& EW qr %T q_rﬁ_ the epic, Kifa-téljun’yam. le? Give an
3150'"'& . . ’ ich stylc:
| Joy 1074 ' ¥, Ipyei YIor il | (b) Bharavi is famous for wt::lcyour text.
J example of this style fr0 Tarn'ouerl
9




( 8)

15. Answer
an
Y one of the following questions :
(a) Descri .
ribe j
of vaneca:a1 zour OWn words the speech
text, ¢ forester according to your

A tyle -
quotatiop from your ?:XtBharaVI with apt

-
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Tbc (CBCS) Odd Semester Exam., 2018
EDUCATION
( 1st Semester )
COur3e No. : EDNGEC—-IOIT—}EDNDSC"IOIT

( Principles of Education )

Full Marks : 70
Pass Marks : 28

Time : 3 hours

T T marks
he figures in the margin indicate full ma
for the questions

PART—I

4n . "
°f four questions out of i€ from © 5x4=20

unit—I

(@) What is the meaning of ‘educare”

®) Who has defined, «Education 1
realization of self”?

v over)
g'1080 ( Twrm =




2. (a)

any Curriculum?

Select the

to
Correct Sentence related
education.

& process
Produyct
- ?
Which one ¢ more  appropriaté
Allroung g, elopment of a child is
/] lndlvldual function of educatiort
(i) a Socig] Nction of education
@ boty Social ang 1ncl1V1dua1 function®
of educatl
UN1T~II
Choose ing
o win
optlons "e of the follo
Aim of educatxon
(‘) Aracte, buij) ing
(&) Ompjete ivin
(iij) bot,
com c ter

(b)

(c)

(d)

(e)

- mm——
S
st it

—_—
T R ks

(3)
. jves
. of education &
Social aim
i to—
Importance ety |
() development of soc through

ociety
(i) development of s

idual; ugh
individual; society thro

t of s desire-
e g e
ind1v1dt11.1le athor of?
Who is tion . life
Democracy and Educa througho.zsion»s
The concept ‘leanmhfch ommi
d in W o
Was propose wome
ich
report? _ of whiC
s
Gender ez?uv?r]elz the?goal
€mpowerm i tee
Commission/ C°mm;on »
) Delors Commsvelopment Go
De
(i) Millennium

jon -one)
(i) Kothari cOmm1sS ( Select any

rules

and behave well 18
() a order

(i) a discipline
(ii) a rule




(b)

()

(d)

(e)

(4)

What
" are freedom ang discipline?
Consciousness and rul
.. e
({fl) Thought and reflection
i) Duti
€s and T'esponsibilities

(Select any one)

( Selec
¢ e)
any oné’

( Contiﬂue '

4- (a)

(b)

c)

(d)

(e)

g
% logg

e it

B e et SWY = : -

(5)

uNiT—IV

Select the correct verb of ‘PuMCNw’.
() curerr

(i) currere

(iii) curer .
Who has defined “curriculum is a tool 10
the hands of the artist to mould his
Material according to M
studio™? |
Which one is more ixnportant ._to
nature of curriculum?

() Child centred
(i) Flexible

(i) Both child centred
( Cho
Je to comple®

ideas

the

Learning from simp
Concrete to abstract are °

() role of teaching
(i) maxims of teachif®
(iii) met logy of t&¥

ethodolo (select any one)

Which one is active teaching
method?

() Lecture

(i) Demonstration .

(iii) Project method t any one)

~in his -




5. ()

(®)

(c)

(d)

(e)

(6)

UNIT—y

Se

(i) 'e‘;:a;hgyfonnal agency of education.
@) Scheg
i) Ngo
Peer 8roup
@ infory,
(&) form

iS a/an

agency of education

(iii) Non_g,

( Select )
any one
¢ Correcy . y

esDOnse relates to r\

© Person writes
€re tOpic
Where People interact
Deop le Post photos

d
{ Contint? _

Ang
Wer one question

(a)

(b)
(a)

(b)

(q)

(b)

(@)

(b)

R R e s

(7) |
P — h Unit :
out of two from €ac 9x5=10

urer—! formal
State any two advantage of 77
education. tion.
Write any two functions of eduCé
UNir—II
g
Name two factors determint

education. . goals Of
State any two changing

education.

aims of

UNi—III - ipline in

Discuss any two needs of d!

education.

Relate freedom and

Points. ‘ R
10 4 A of

Write any tWO .
Co-curricular activiti€ 'ol
How could we contr
School?

. tWO
disciplin® n

unT—V

of
Why is NGO an agen‘l’:;
What is social networ




PART~III o
Answer one Question, out of 10 from each Un;x5
UNIT—]
11. (g Distinguish b

ion
tween formal educatio
d non-fory, education. ’
(b) Justify ‘EduCation as a science and arts:

NIT%H < f
12. () Relate indjy; bal ang Social aims ©
education. ‘
(b) Discuss e features of Millenniu®
development 8oals of education.
UNIT\III
'13. ‘(a) fErnumerate the Concepy and needs of
o) D::do.l: iscipling in education. f
mainc? Problem, and means ©
®Rance °f sche Iscipline
UNrp
4 @ EXpl,a‘m the Natyure of
curllculuri], and types
(b) Discuss ' d
CMerjtg £ _°0ncept’ Mmerits an
Uect e °d of teaching.
15. (Q) "SOtne NIT\V ]
Justify educatiml are interlinked.
(b) Describ the
Cducyy; oles  op Medja in

Uy
/
1 1102

-101T/027
2018/TDC/ODD/STSH-10

, 2018
™C (CBCS) Odd Semester Exam.

o STATISTICS
A

( 1st Semester ) |
—101T
Course No. : STSHCC-10

( Theory )

Full Marks : 52%
Pass Marks :

Time : 3 hours

. ks
.. icateﬁ"u
The figures in the margin mcri!s
for the questio

Answer all questions

UNIT—I 1x3=3

- three) :
) {Q) Fin in the blanks (any of

.cal P
) Statistics are numeri

: facts. data.

f\ () Attributes are by the _——
(i) A schedule is filled 1"lps, the heights
(iv) 1n drawing histogram

to
l ]]l]d be I
Of t.h.e Iect E

uencies-
the respective class fred 2 Over )
€ res ( Turn




(2)

(b) Ans
WEr any one question :

@ Define
n0min .
m‘*‘isurementa,]l and ordinal scale of

(i) De
fine freQuenCy curve and ogive

@ Mean -

Y digc

a rete i, .

mean iS dlstrlbutiOn’ Mp
\ SD.

( Contit?

147

e vy
e e bt S e ST

(3)

®) Answer any one question :

() How can median be located

graphically?

(i) Write a short note on o€
variation.

fficient of

(c .
) Answer any one question :

(i) Define standard dﬁﬁaﬁf’
compare its superiority with
measures of dispersion-

n and
other

.y f
(i) Define raw and central momefltsﬂi’e
a frequency distribution Obtall;l1 ol
relation  between °ef the
moments of order 7 in terms o
raw moments.
11
Q 3 ’ .
.) Fill in the blanks (any three) :
. . - two
k (l) The distﬂbuﬁon mVOlVlng 0111}’
A variables is called —— ion
rrelatio
() Karl pearson’s _ o7
an; Of
coefficient is — of change
Ol‘igin and sca.le.
(ii)) In the case of perfect
3 the two lines of regresst
g, 1 each other.
102

2+3=5

1x3=3




(4) (5)
(iv) The co : .
ofl'::iatlon coefficient is the (i) Two attributes A and B are said to
Tegression coefficients- be positively ass ociated if ——
() Answer ) o] is 4
= one question : g (iv) The first degree polynomial 18
i) Show |
°°"elatiort1h it Karl  pearson® , 2
-1 and +; Oeflicient lies between (b)  Answer any one question :
) . nCiCS:
(i) Write a () Define classes, C.laSS ﬁ:qzzgative
diagram, short note on scattef positive frequencies an :
frequencies.
(C) AIlswCr an . . q  ency of the
. Y one Question - (i) Examine the consis
() Define rank . following data : 4B)=5
S s c(}nelatiOn. Derive the N =100, (A) =60, (B) =50, ( u‘sual
COrrect: ormulg th eir
(ii) “on Coefficient for rar;lig,g The symbols have
Defin regr meaning.
Tegression o o100 Fi the L
set of 1;?: sation of y c1>1111dx for & 4 () Answer any one questior ’ 4 and
© data, 247 () Define least square® me;h odegree
describe how & SE°0C .y the
@ Ny polynomial can b€ fitte 5
Min the 4 g help of this method ot Of
S » 7 . r cO€ cl
Y In least - (any three) 17‘3 (i) Define Yualjusi the efﬁcifr:;l:gf
Sum ares n association ” follo
(ii) n of squa-res i:lethOd’ the errof P Conigation’ Estathh e ien of
case of o relation betweer o grcient of .5
n:mber : attﬁbuteS, the tota} association @ and the_ c 2+3
Tencieq is Ultimate clas® colligation Y: v
—— Q _ -—-2-—’2‘
y 1+Y
) | J
( Contin®’ 3 l1g,




D e
22 LSS R A NRS

S — T T~ o L — '_‘_7 ,'f;/;%

e ,

‘ (7) !

‘ \

|

| (6) . |

| ’ eorem. hite .
| i) State Bayes’ th d and 3 WA il
, (ii) tains 5 T€ ntains Hi

|| An urn con ther urn €O pall is

UNIT—v d ano _ One Tl
1o balls an ite balls to the

| 1x3%3 , d and 4 whi e first wm is

‘ S. (@) Fill in the blanksg (any threg) : re d from th a ball |

| . : transferre and then * " the ‘;

| @ X Qisany, Sét, then P(Q)=___. second um the later: ‘Zrha“m from 3=5 ’Ti

‘ ' from all 2+9% '

| (i) In the Simultaneqyg tossing of two drawn ility that the b

ﬂ perfect coing, the probability of I:’I.Obaebcol'ld urn is ¥ ’

- 1,1 having at leagt one heat is _ the.s i
| X Aang g, Mutually exclusive
events, then PAy, B)= * kK
! ) 1 P(A/B)=P(A), then 4 and B are
. s
| 2
: ;} () Answer ANy one Questiop,

L . ,
- Y I;r;t:nth are ll'lclependent, then L
o : at pc c also

| mdependent. ar_ld 5% are
. @ In 5 ' |
‘\: dice, sﬁlzgle throw of t_Wo unbiased |
‘ SUm of the 1 POb8bility that the >

j ~ € numbers iIs 3 or 11.

(©)  Ang
Wer an question T‘
) State

| Proby 'typ; o ltion theorem of

| 3 Which gre o € two “vents 4 and

o hce gope Iy exclusive.

Y € result for the

&‘?, ee Sventg A B ang 3+255
i Joy li02

! ) 7300/1102
g ( Continue




TD
(.: (CBCS) Odd Semester Exam. 2018 |
|
STATISTICS |
( 1st Semester )
01T

h ;
€ figures in the margin i"dioateﬁm '

|

. Ans
Wer any three of the foll

(a)

)

(c)

T AT A e AT

2018/TDC/ODD/STSG-101 T/029

Pass Marks : 20

Time : 3 hours

for the questions

Answer all questions - " f

I
UNI L 1x3=3 :
owing * ' |
. o in :
What do you mean BY populatio”
Statistics? ) m. "
. i ﬁc |
Write two merits of ] N
representation of statistc data. tical j
Name different parts of & _Sta“su | |
table; ‘
:eS data-

of timeS .

Give one example:

(




— - .

(2)

2. Answer any one of the following :
(@) Prepare g,

: male, female
> ArtS, commerce, science
(iii) Age ; below 19 ; :
» ab ars
2015, 2076, ove 19, (iv) Ye

@ thi:cuss the  procedure for drawing

togram from 5 fre istributi
. quency distribution
With an examy), d

. 3. Answer either (@) or (b) fro

(o iSting, .

) lea::ngmsh between, qualitative
i " 404 quantitagy, data
(G Draw a )

fom g %S than’ gype ogive

m the following :

s follow;
tlbution , VI frequency

Mo‘i'lk: No. of Students

10-2¢ S

20-30 *

3049 8

140-5¢ 12

50-6¢ 16

60-7¢ 25

70-8p 10
J9/1104 - s

( Contint®

.

f graphically?

(3)

i d ordinal
®) () Explain nominal data an
data.
i le by
(i) Represent the following tab.
suitable diagram :

Gross Profit Net Proft

a

Year

les 0 %)

(00 (000D o

2002 125 38 15

2003 135 45 19

2004 150 53 24

2005 170 62 30

2006 195 72
Unrr—II
1x3=
q g

" Answer any three of the fouoij GM and
(@) Write the relation among == '

®) Which of the meas ™ getermined
tendency can

cy
frequer
gt a
Under what Col.ldluor;se skewed?
distribution is said ©
. ts.
Define central momen

(T“'”M)

2+3=5




(4)
5. Answer any on, of the following : 2
a) Wri .
“ m::se the Characteristics of a g009
| Ure of centra) tendency.
(b) For 3 ' |
standar;q'::.ncy distribution, CV is >

> Answer cither )
(a)

Pearson,s eviation iS 2 and Kafl

Find the °0efﬁcient of skewness is 0'5-

distn.'b . mea.n and d £ the
Ution, mode o

b) from the following *
: tha

t st N
:ot:ef:ndent 0:121(11:11;;: g:\:;u’onb;t
) The gy - © gin
e.an Weight of 3 50 students i
Weight of ;0 ss .is 60 kg, The mea®
o y§ In the class is 70 ¥%
SIS is 55 kg, Find th°

OYS angq girls in ﬂ; 2”

@ ‘Show

mOm .

€nts about Origin.

5
y
" kurtosis. 3+ 2

Karl pearson®
?

J/
{ Contiﬂ“g

i n
(b) Write down the relation bet::sn
correlation coefficient and I:;irteion.
coefficient in a bivariate distri
() Explain multiple correlation.
(d) What is the use of scatter diagr:
2
> Answer any one of the following - ]
: . given &
(@) Two lines of regressio? afes f‘a eind
X+2Y—5 =0 and 2}.{+3and V(Y] given
the correlation coefficient
that V(X)=12. 4Y—aX+b
(6) Fit a straight line of the fOfm “nciple of
to a given set of data using .
least squares. B
3 e following :
" Answer either (a) or (b) O = rrelation
’ co.
(@  Prove that Spearman’s rank 6% d?
. by P= 1 ’/nf:ﬁ’
coefficient is givVe™ nl
be
: :Ference _ t
3 where d; denotes ’the difdi - jual. thf
the ranks of ith red i se of 5
modification is €4
repeated ranks? ient i
1 elation coel” ™, _ and
&) (i Prove that corr & ofor gin
independent of ¢ ,
J scale. ( qurn
9 ,1104

VR wﬁ»———""’_ i - -
- ==l e e

(5)

e .




11.

12,

(d)

(6)

(i) From datq involving variables Xj»
X,,

X3, the total correlation
coefficients are n, =0-77, ns3 =0-72

=052, Find the partial
n coefficient n.23-

1x3‘3

Pace related to tossing of
Sed coing ¢ a time.

the probability
O are red.

( Continued

i

(b)

13

Jgy

fo
' Answer any three of the

(o)
(b)
.{c)

()

194

(7)

P(C) = PB)

ith
nts w1
() Explain independent o
i) Exp

example' . dren
Three groups of chil

Is an
3 girls and 1 boy, 2 8%

tively-
S rCSPec
and 1 girl and 3 boy from €a¢

K . selecte i Of
One Chﬂpc-lmzls the PfObal:hty 1+4=5
o Fod, 5%,

selec

consist of

(@

=3
uNT—V g 1x3
llowins - £
value ©
I then what iS the
f BcA,

P(ANB)?

If C and D &re -
events, then wha

. i g tion
State the multiplica®
Probability.

Given that P (AUB-)

. dica
and P(B) =05, T ts.
B are independent

ally exclusi’e
mutt

pcvPF
theore™

=08
B)#
.90, P(Al and
=259whefher A

r)
Tumove




I (8)

i ; 1 - A.Il
i 4 swer any one Of the fou
OWing .

| (a) Fo
r three eventg Ay A, A t
» Ay, A3, prove tha

: P(AlhAzhAa]EP(A).;.
. ) 1)+ P(A,) + P(A3) -2

!
\% gllzn Prove th,
!“ €pendent,

two 1
at :(l:n dependent events
and B€ are als0

o e

are
m
ade sych that coin$

th:‘.:efore the second
. Probabﬂity that
8lve 4 gold coins
awing will give
QY+2

su i
Ccessive drawings of

5?9

2018/TpC/ODD/STSG-101 L/

TDC (CBCS) 0dd Semester EX3% 2o

( 1st Semester }

Course No. : STSGEC-101 L/STSDSCAOI L

( Practical )

( Set-1 )i
Pull parks 33
Pass Marks : 12,

Time : 3 hours

The figures in the margin ind!
for the questions

pull ¥

GrOUP—A

( Marks * 20
1. Answer any two questlons

[Y C -
malculate median, €27 de"‘:‘h
; :an and standard deviation of
Quency distribution *

Class interval Fre 7
27-29 ?
29-31 15
31-33 8
33-35 4
Dy e c
abaw a cumulative frequen® or )
% Ove frequency gistributio™ ové
99




(b)

Calcul

following

X

Secong de

ate corr .
elati

T‘ regression : Hence gy . ,
{ ‘ regression :a'nd tain the lines

\

i

|

(2)

P20 16 2¢

2
P27 a4 7 33 26 18 20

2 35 33 40 38 25

gree parabola to the ¢

Y ; 2 3 4 5
26 44 55 67

efficient from th¢

o vbet‘”een two lines o
4+3*3

)

: 6 2':7
A 33 26 18 20

1
1411 9 16

t GROUP\B

q ( Marks . 10)

(] Pr . A
cticq) Notep, o

5 < ~ook, 4
i |
|
1 * * *
|
I Jo_
2 180/10g, 2035 :

B ' 101 L/sgT-

W B Mk A ot £ r— =

2018/ TDC/ODD/STSG-101L/Set-11/025

TDC (CBCS) 0dd Semester Exam., 2018

STATISTICS

( 1st Semester )

_101L
Course No, : STSGEC-101L/STSDSC—10%%

( Practical )
( Set—II )
Full Marks : 30
Pass Marks : 12
Time : 3 hours
The figures in the margin i{tdioate
for the questions .

full marks

GROUP—A
( Marks : 20)
Answer any two question® o
1, @ Scores of two crickel;o“::sat:smen
Ba:sma 12 matches were assfc;s g5 90 100 Z: igg
gm0 B G
Find which batsman M2 be ;onsl 5
to be more consistent playefe following 5
®) Compute 3rd quartil® :?if:atlllly . a0
Mqus data and verify it graps 070 7
Vo oo i 20-30 30-40 40-50 , s
stl‘denh . s 20 14 10 ove )
Jy, l10g ( Turm




| (
| 2. (a) For the freque
in Statistics ¢

moments :
Scores )

No. of Students

X : 2 4 1
Y .

SAve the

I height in in,

e8tim,

f : Cop. . COFrely
i Matryey
E.

|

random, compute

: 60-70 7

che

e

2)

ncy distribution of scores
f S0 students selected at
the first four central

© 2030 3040 4050 50-67
: 1 .

3 5 9

12 10 6 4
ial curve of the form
'® following data -
12 16 22 30
5 100 12:5 150

fathers anq their eldest
fDHQWing data about their
S

88 62 7 66 69 61 71
0 72 64 g7 g2 73

Si8 of g ity Were obtained in
y :; . R Yield of dry bark
Cichong plaht:'ge in years (x) of

X Y
92 165
, 42
Clent = +0-84

© lin

O coefyy

' s oo JES of e ssion
, Pl ate the gre

Ty bark of @

5

0
0-80 80-90 90-10

5

&Y
63
5

§

( Contiﬂ”ed

y/

STy —— — e —
e e e e -

(3)

GRoOUP—B
( Marks . 10 )
4. (a) Practical notebook.
(b) Viva voce.

* & *

Jy
gy, 100 2018/TDC/ODD

TR
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TD
C (CBCS) Odd Semester Exam., 2018

STATISTICS

- ( 1st Semester ) SRR
Counc.. o
ourse No, : STSGEC-101L/STSDSC—101L

( Practical )
( Set—III )

Full Marks : 30
Pass Marks : 12 |

T¥me : 3 hours

The
figures in the margin indicaté full
for the questions o

marks

GRoOUP—A :
( Marks : 20) “
. Answer any two questions -
@ Obtain Karl Pearéon's measure ‘(:if
. skewness for the following datt atlr:e
i COmment on the shape of |
distribution : ‘
Values . 530 10-15 1520 20—125 |
F'equency : 6 8 17 2 f
. Values . 530 30-35 3540
9,1 Prequency : 15 11 : o)
lo; ( Turn 0"




(b) Goals scared by two hockey'teams A
: and B in a season are. as shown

below :
No. of goals scored o of Matches j
in aA :atch Team A Team B

27 17

1 ° )

s s .

4 ‘4 5

5 S 4

6 3 4

Find ¢ 2 1
consiSte:z whfch team g more

a . |
SCoreqd Proficiency test. The

Selection recrui i the
test (x) Tits  in
te ) . '
Serial N, %) are gi"ena*;‘i;:: .the proficiency
0, . 1 M .
2
x -3 4 5 |
0 , 6 0
Y 18 127y, 13 7 8
02, 16 24 14 22

, a6 3
Celeulate rank 334 40 35 39

COTralas:
J9/1101 Trelation coefficient.

3

(b) Fit an exponential curve of the form
Y=ab* to the following data :

7
X : 10 11 12 13 14 15 1; 1;‘0
1-8 2.5 36 48 65 82 9

. of
(a) Calculate first four central moments

St hence
the following distribution and e

find B, and B,. Also comment ,O.
1 2. - 3 n.
Shape and height of the distributio

52
x 12 14 18 24 30 38 0
Y 8 o8 s6 70 52 2
101,
(b) Fitﬁng an appropriate line Of fegrlz:lsi{ata
find the most likely price lnf v50 in
Corresponding to the Price :m Jtion :
Delhi from the following inf
| Kolkata
78
42

Delhi
Average price 75
SD of price 35
Given that, the correlation co
between the prices Of
in the two cities is 07>

GrouP—B

( Marks : 10 ) 5
{
i Practical Notebook. 5

® Viva voce.

* kX

8 61
%1103 5918/1DC/ODD/STS

01L/5¢

5

5
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MATHEMATICS

( 1st Semester )

Course No. : MTMHCC-101T
( Calculus )

Full Marks : 50
Pass Marks : 20

The Time : 3 hours
figures in the margin indicate full
for the questions

UNIT—I

Ang
Wer any two of the following *

(@)
It Yy =10g(x+a),Athen find Yn-
|

If y = e2* gin bx, then sho¥ that

Yo —2ay, +@* +b%)y ="




(2)
2. An ;
SWET either (q) ang (b) or (c) and (d) :
@ 1 y=gp, X, then show that

¥ y y,
Ys Y4 ys(=0

(b) If Y= ea sin™1 x
» then Prove that

1~ x2
)yn+2 ‘(2n+1)xyn+1 ~(n? +a%)Yn =0
Hence find (yn)o
©

X«
' x:me+y°°se=a and
ose‘y SinO:b

then Prove thag

dp
. q - ——=
is oonstant ds de? ggP

Prove that

dn
\(xn si .
i A = n(Psin x + QcoS")

(d)

Whe .
Te P§1‘(2)x2 Y x4
2 2 +(Z)-——-

Qx(n
(;)x-(z)&(g)fi»

e

LN

- a

%’10
A

R4 S e

(3)

UNIT—II
3, . —4
Answer any fwo of the following : 22

(@) Show that Lt (1 +JC)1/x =e.

x—0+

) Define asymptote of a curve.

axes,
fe Using the same set of rectangular- e
draw the graphs of the curves ¥=
and y=sin2x, 0 < x<2mn.

1, d} :
Answer ejther (a) and (b) or (c) and (@ 2-3
Yax2=
(@) Find : l
2
. X _1l)tan” x
(i) Lt (_e__)z_____
x-0 X
() 1t |- —-1-')
x—0 ;c? sin? x
3 _3x+3 for
®) Examine the curve y=% ﬁj: if any.-
Concavity and points of lnﬂe:ﬁng,dearly
Hence trace the curve sbO points of
the extreme points 2m 3
reflection, if any. ' 1%x2=3
c) Evaluate :
2
() Lt (cosx)® ™
x=0
_ x _log(l+X)
) Lt X 1€ over )
x50 X ( Tum:




{4)
- .
(d) Find the asymptote of the curve
_8 3
y= 5
X -4
UNIT—I11
5. ’4
Answer any py, of the following 7
(a |
) If Iﬂ:jxnCOSaxdx
. Jn =J‘xn sinaxdx
then shoy, that
. aIn =xn8ina-x-an 1
(B) Evgy )
\M /2
Ate [ c0st0 g g,
) HI-E“
n = n 1 et
find | B
S n-~1
6. Answer either )
Q) anq
(@ Frop, ) or (o) and (2 !
Jeosm *eduction  formula A
feos3 > Obtain the value ® I
chSSx
dx,
b) L, . §J’l&/:_) i N
N pro ¢ "M% xcosn xdx, m,n€ J
Ve that § n-1
mp = -2’
J9/1093 " m+nIm'n g &,Jf
(cont™

(5)
for
c) Obtain a reduction fogm;lxla
J sec” xdx. Hence find Isec xdx.

(d) Prove that

J::lz cos™ x

42 [ ifnis odd
nn-2-53

; 3
(n-1)n-3-3 1% jfniseven =

T Thm-2-42 2

UNT—1V »
RL=
Answer any two of the follo"i7€ -
ofy=
(@) Find by integration the length
from x=0to X =3. nded -
(b) Find the area of the regior:i::‘; X
the curve y2 =x and the ohese
fa
(¢)  Show that the Sul'fr;:?-ce ared ©
of radius a is 47¢ -
8 and (@
' Answer either (a) and (P or () e 8¢ of
(@) Determine the length of = a(l._cose) 3
the cycloid x= a( +sin o), Y :
eXx. )
measured from the vert e po,«ﬁon
sm d
(b) Find the area of ::s )C2 +y2 =9 an 3
enclosed by the ¢¥ )
y 2 = 8x. ( Wm Oyef
Jy / |
1093 .




(6)
{¢) Find theslength of the arc of the curve
X=acos® g, the
1 y asin® g lying in 3
st quadran
(d) Find the area of the surface of the solid
generateq by Tevolving the arc of the
Parabola 2 _ =4qx bounded by the latus 3
rectum aboyt X-axis.
UNir—y;
9. Answer an 7
Y fwo of e following 2
(a) Prove t}lat
—’
3Xb = {ixg).7 o ey’
) }‘+{Ux3)-3}}+{(ﬁxa’)-b}k
() Ping d the
Vee
through t;to “Quation of the plan®
Perpengi, . POt 2i4+3}-k an
lcula_r t 7k
€ vector 3; +4j +
© ¢ o
r =542 -~
-s;‘s.t l‘\+g‘t3k aIId
“Sing ~Cos{
then fing ’
) the Values of 4 73 and
— -3
a'" x3) %
J9/ 1093

( Conti™”

- e -

(7) |
lo, Answer ejther (@) and (b) or (c) and (d) :

o non-
then 3+b, b+¢, c+a are als

b + C,
COplana.r Is this true for a- b
E) + a ? ’

e
)  Fing the vector equation of th;tplznn d
Passing through a given PO 3
Parallel to two given vectors.
¢ if and

(©  Show that Ex(gxz)‘(axb’x

ear with

Only 1f either b = 0 or ¢ is colhna 2 and C. .
d,0rbis perpendicular to both |
ary and sufficient

? (t) to have &

(d)

Prove that the necess—’
condition for a vector r =

3
2 Efi_
constant direction is f X

* * *

Jg
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( Higher Algebra )

Full Marks : 70
Pass Marks : 28

Time : 3 hours
The figures in the margin indica® full marks ;
for the questions ‘

' UNIT—I
1, ‘ :
Answer any two from the followWing »
questiOns . 2xXL=
] (a) ~ rational ¥
State De Moivre's theorem for {
Indices. , '

e
(b) Write down the polar form of th
complex number -1+i




(2
( UNIT—
1 - find
() 1f2cosg = a+'l, 2cos¢ = b+g’ then 1 3. Answe, two  from the following
a ) estioy, 2xQ=
the valye of ab+ - (
e ab , Y Define ®qQuivalence relation op, 4 set
followin: ;10
2. Ans::ie:ns : y | twov' from the 5%2 () !..et A ang B be O sets. |f J:ra B
que : -\ AsiB }Sq -On ~One Onto, then Prove that
@ It .(a1+ibl)(%'+ibz)"’(an +ib, )= A is glgq One-pone onto
Prove that
-1 bn c :
(i tan"ia-tan“.l-'b&+---+tan l @ X ilee o oo of o atio hich
a a, B. S refle an Tansitive but not
1% SYImnetn
| _tan
%
" Angye,
.. 2 f .
@ (f +b?l>.<(a% *b3) - (a2 +b?) 2, Westigy, e from the f°u°“’1ng
' _A%2+B Sx9. 10
= @ oq the set 2 o teger :
. 3 4 Telatjq, R~ {la, b f s:.Cf)r.lsuier the
) (1+x)n ~a, +a1x+a2x2 +agx Shoy, ¢ R i; Q- 15 lelSIble by 3),
then ghqy, that__ ind 4, artj ivalen o, Telatioy,
| nn disjoing 8 of 2 into t
B ag-q, a4 <. ons2 cos T *hce clagq, Hally
. . (b) Let 4 _
(u) a’l\a nf2 . m- - \RR{ :BtR 7
3 +a e = in — S -~
5 2 8 4 b £ A\*B:f(x)§7x+4 ang {5} AISQ let
. ) o X -3 ‘B .
©  Expang sing i ascending power of Show ¢ Ty :y +4
at Y~
s .
(d) If -E < T . . owef ° -
4 esZ’th“mexpﬂmdGm-p o f"’A i P
of tane \]g g ) =7
- J | I logq
J9/1094
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(4)

(c) Let f.
f.R-—)R:f(x)=4x+3’ for all x€ R

Sh is i
| ow &at fis Invertible and find f .
(d) ff:Aa5Bis one-

" that fis an inve one onto, then prové

rtible function.

5. Answer

(a)

the following
X

State the

induction. pnnclple of mathemaﬁcgl

() D _
efine Euclideay, algorith
: orithm,
State
Ndamenta) theorem of

ton fl" Om
@ Proy, ' 5%2
. ¢ b .
indyceg: y Princip . . al
Ction € of mathemati®

12+2.92 +3.93
. +...+n.2n ___(n_l)2n+1+2

®)  Proye v
in . Pring;
ductlon Tinciple of mathematical

la“+2@0+3cn+

S
J9/1094 nnY) =n+1t-1

( Contiﬂd

97

the followif® 0
x .

—

A

I/

p

\‘\aa;_u:__/——
b g e gt
- S e R S e et

(5)

(c) Using division algorithms, prove that
dd integer is of the

the square of any 0
form 8k +1 for some integer

(d) If(a, 4) =2 and (b, 4 =2 then
(a+ b, 4) =4,

UNIT—IV

Answer a_ny‘ two from the

Questions :

(@) Examine the nature
following equation by
rule of signs x* +2x2 +3x-1

(b)
aox3 +3alx2 +3a2

2

then find the value of Za B

(©)  Remove the fractional

€quation
2.3
) :4 -_—X

8, e
Answer any two from th
Questions : .
e roots of the

(Cl) th
If a, B: Y be then ﬁnd

x3 + px+r=0

1
@ - fy

.

\
9/1094

of the roots
using Des

If a, B, vy be the roots of the €
x‘+a3 :

5 2 _.Z-x+/
+72 216

e value o

prove that

following
ox2=4

of the

=VU.

quation
=0

11 _o

wing
follo 5x2-10

equation

{ Turn Over )
L g



. e = ' 4 i - —=
Ff_f,,_,_: e T D L —_ —
E
i .
k (6) | (7)
()  Solve the following equation by Cardan’ 10. Answer any two from the following
method : questions : 5x2=10
3
*"-6x-4=0 (@  Find the rank of the matrix
fe) Solve the equation - . 1 -1 3 6
27x% +42x% _08x -8 =0 a=|1 3 -3 -4
1] Wwhose roots are in geometric progressior 5 3 3 1
| d 1 f L.
r{ 0x3 f};zﬁ;iﬂb% the roo’: 0 by reducing it to echelon form.
I . = 3 t fm .
f : €Quation whoge roots :::1 (®)  Solve the following system of equatwns
k L+ 1.1 1 } by Gaussian elimination method *
f p3 5 T, — +L 1 1 b—=""3
|’ Yoo B oa
I 7x+y-5z=8
UNIT—v 3x+7y+4z=10
9. AnSWer ‘
an : ir of
Questiong . VW0 from  the fouowlnggﬂé‘ (©)  Prove that the interchange of 2 p:;i:
§ (@@ D rows does not alter the rank of am .
. eﬁ]’[e ‘:a-rlk .
\ o) Undeg ) of a matrix . (@) Reduce the following matrix to normal
! w . ' :
| matrix 3t condition the rank of o form :
| 1210
| 2.4 2 A=|-2 43 0
21 2 ) 1 02 -8
1o
| s 37 *
'\ (c) If Ao is 4 * KK
f i Non-zerg ix &
S a on-y column matn* o
\.‘. | that rank Ago Tow matrix, then sb '
l J9/1094 ) =1, N
\

_ 069
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MATH EMATICS

( 1st Semester )

Course No. : MTMGEC~101T/MTMDSC~101T

{ Differential Calculys )

Pass Mariks 28
Time 3 hours
€ figures N the Mmargin Ndicqte Sull Marks
Jor the Questiong
UNIT~I
Answer Y four Qestiong 1x4xq
(q) .
l?en ! limit of Action saiq t
CXist 4 Pointp
(b)
hat IS the Valye of Lt (l+x)1/"'->
X0
‘P, (C) D
Qe N |
S tI;to{sm\ersm~+ 2 sini}
CXisto X
h







(d)

(e)

2. (a)

(b)

3. (q)

at
U Lt fld=a, Lt gxg=b, then wh
-. X—¢ —C

should be the value of Lt (fg)(x)?
X—=C

2
Define Sandwich theorem.

Or

Show by €Xample that 1t Lf(x) + g("”
and Lt

xX—> t
T g(x exist although at leas
x>0

One of the twq limits

Lt X . x->0
v 910 does noy exist.

) Show thay |,

t cos-l- does not exist.
x50 X
(@ Prove g,

n
Lt X
Xxsq oo

n-1
=na vn
X-a

i. Answer any four

2
Lt f(x) and

. 4

b

Questions
a) Does the derivative of
S an eyey function?
(b) :
the functiop f)=cosx continuous?
(c) Xam;
Amine the Continuity of the function
1
flg=_—_
X -5
(@)

2

{ Turn Over }




(i) Show that the function

FO=lxl+1x-1]+|x-2] Lo
is continuous at the point x=0, 1,

i is
(i) Prove that i 4 .functlc:l i
differentiable at 5 point, the

i the
continuous at that point. Is o=t
converse trye?

Or

(b) (i) Kfu+w=ﬂm+ﬂwmrmLxmfg
and if f(x is continuous at x =
Show that is  continuous 4
everywhere,

{ii) Examine the dif

4-x » X<0
Fl=15x44 »0<xxl 4
4x3~—3x’ 1<:x~<2
UNIT—1q1
. 4’4
7+ Answer any Jour Questiong 1%

fa) State Eulerg

theorem o homogeneous
Ction.

( Continued !

. fo,y,7)“*" :
() "Fing Y, ify:e‘q"
{e
) Is the functlo S ‘
hop, U s ( YU/
nGOUS’> )
]
\cos\lj\ic U
l )C*\/Py\l, \}v)\ thiy,
dy A
x\+ dy 1
» a\y$’) Oy =)
{b) Ify Or
0310 X) 4 g
S\ Loy,
| . N (les ), Proy., th,
Q) (l) I l+y:0
\tan\lx \T
» t
“*a@]y (Hx?] y en Shay, thg,
2 H 2, h
'1*2*(271)(*2 ’ I)UI ! s
.. | \1 t
(u) g )9h+1 + ("l*.L
Brq Sr
Ve that “nd s < 2 Q*Q\R
r3f 32 :




( 6) . | TTTTes— T
(7 D
_ ' a : . !
(b) () Findy,,if y=—_" ) Find the points where the tangent to the ;
R B 4 curve y = x3 - 3x2 ~9x +15 is parallel @ |
i : : ' x- . i
(i) If Vis a homogeneous function in s ? ;
x
» Yy z'of degree n, prove that éz is o Or !
a homogeneous function in xa)C z ) Write down the formula for finding t}‘fe !
of degree (n-1). i 4 ; Zadius of curvature of any parametric 5 j
: urve. |
| |
UNIT—IV A : !
1 (@) (Y Find the radius of curvature at any 5‘
0. AnSWer a.ny fOur . x2 y2 _ 1 . 4 ‘
{ ) quesi'_lons : 1)(4.:4- pomt (x y) Of the.curve 5 Zé" = |
Q Wnte dOW & . '
dy n the geometrical meaning of (i) What do you mean bY angle
dx t the
dx - between two 01211"’65? Pro;ez ch2 )
‘ 2 X 4= =
(b) Define radj ‘ curves _JE___,,_!_/... =1 and a P
us of . .
on curvature at any pomt a b b P
{c) Wh will cut orthogo™ y . 1+3=4 |
c .
at o ;
o c:ﬁile condition of orthogonality of o , i
{d) - : S f()C, Yy =0 and ¢(x, y) =07 r. the curve i
About whij ‘ (b : poin !
which axes the curve ) ) Sﬁ?"i that at j;}',l e m power of |
'-E): +(3) =1 the subtangenubnonnal- }
is symm b power of the © f curvature at
etri jus © 6,
cal? (i) Find the radltne curve * =acos® 4
! any point o |
y= asin o. ‘ l‘ ‘
i

(e) Write
d .
the Cur:j?,nr ?he equation of tangent to
C J (X., y) =0 at (xl, yl)

J9/1095 5/
( Continue? ) 1095




i
L I | (9) ii

UNIT—V (i) Expand cosX mhpow::ndition of
i that the ion
13. Answer any Jour questions - 1x4=4 ) il:c‘;:;%in’s infinite expans 4
ies is valid.
fa) Give an €Xample of a function where series 1S V
maximum value is less than its or gle (in
.. ctan
minimum value. (b) (i) Show that the laIges.L;: in a circle 4
) . inscri
(b} Write down Cauchy form of remainder respect of area) 1nS ‘
term in Taylor’s theorem. is a square. nat
i . rove t
() Is Rolle’s theorem applicable to | (i) If u<v, then P -1 u<_2:.9‘2— *
fld=tanx in (0, m)? U-U _an~tv-tan 1+u
2 '
(d) State Lagrange’s form of mean value 1+v !
theorem.
* K
(e) State L'Hospital’s theorem. *
14. (@) In the mean value theorem !
fla+h) = fla)+ hf'(a+6h) ;
fa=], h=3, f(x)=vx, find the value of 6. 2 %
Or 1
(b) Evaluate Le |1 ___2 . 2
15. () i\ 1/ %2 4 :
@@ Bvawate 14 (SM) ,
X-0 X
J
J9/1695

. ed )
( Continié 26071095




| 2018/TDC/ODD

TDC

MASS COMMUNICATION

| ,
( 1st Semes“r )

Cour
se No. JMCGEC"IOIT/

Journﬂli"m

( Introduction to
atlon )

Communic

Full Marks - 70
s 28

Pass Mar

. Th

! e margi

! figures in the arg tnw
for the ques

Answer all questions: '
1, o r : ‘
@ Anewer anY four of the following
questions * | "
(i Define the ter™®
(i) Name the
3 (i) Who W&° w
newspape’’
fiv) What €0 ¥
‘byhne'?
v) erat-UZ‘A
whorn?

Kba

A TH

|

139




(2 |
) | (B8} i
(b) Anéﬁleru A o B | i
any one he . | . ‘
questions of the following | :.(b) Answer any oOne of the. following )
e term ‘Y questions :
(i) What. ar ellow Journalism’. { tinger? Give’ examples
head e the different types of () Who is a sting itorial?
() Ans nes? | (iij What is the /] functlo ofan €
_ wer any : e following
"4 questions - one of the following ; (© Answer any of th 8
‘ () What is the mverted pyrami d s tyle I quest:lons foo uonal Swéu‘n.e
o examples. L of newspape ‘a:“ de partiment .1
.7:" (@ What do )’Ou mean by the term - the functlonS °f 4+4=8
o ;liead ? Describe with examples the fesS in Indiant i
LT lfferent types of leads. | (i) Discuss the role (::;p, ‘ §
- UNIT—II - - | Freedom Move™ © N
AnSW '
er. any four .of - the following i1 C
questions 1 x4 5‘! 3 e following l
¢ } . f Lo 4 :
. o ‘I:,Eedom of press is granted under | (@ Answer any four ° o 1A |
ich Article of the Indlralf1 , questions ular‘-Pi‘eSS Act
(i Constitutionp " - o () What was e verna® !
i ‘ i a .
l) 'fn};ilreglstratxon of neWSpapers was : (1878) also’ ed?J"; of ABC? \
€ compulso by for ,
»Whom?.. , ry Ao 1835 y (i) What i the . coundil W88 sit up
"'(‘ll) Annie ) | First Pres® co
Besant edlted- which (iii) The a? |
(ivj :;;;r'spaper? R r in which h y¢ cil consists of how 5
RRY AR T un b
A fCh‘ kact WaS Called the ‘Gagging | (iv) The Press co ? i
ct’? i ember® . oter Of |
(v) “Ea | . many m¢ _egent Ministe ¥
St India Compan mtroduced } : ;s the pres 4 Broad- oo
cenSOrsl-up o Y ine in : (v) Who ; nformauon & ndie? :
which year? r th? ﬁrSt 't | Centr Go vernme“t’ of
| casting [ Tun over )

- J9/1139 od )
- pes ‘N Y
{@jﬂ‘tl ‘ 9,1139 Al
ﬁ . 7“77'/"1"”'”‘.



)

@

TILEAR

4, (d)

‘ (ii) Discuss

(i)

Answer any one of the following
questions :

) What is citizen journalism?

. what you mean by
Parliamentary Privileges.

Answer any one of the followmg
questlons: :

(i) Write the composmon power and

functions of the Press Council of
India.

(u) “Press Council is a toothless tiger.”
Explain,

UNIT—IV

Answer any four of the following
questions : 1%

() What is intrapersonal communi-
cation? |
(i) What is SMCR model?
{iii) Define communicaﬁon.
" (i) What is feedback in a communi-
... cation process?
(V) Who gave the rhetoric model of
COInmumcatmn?
( Contint

\ J9/1139

=

N

ed )

(b)

(c)

(5)
_followin,
Answer any _one . of the (_J' g .
questions : S :
i levels of
() What are the different le |
commumcatlon? |
catlon
(ii) Deﬁne Mass Commum
the followmg
Answer any one of ]
e by~ ‘noise
L an 4 y
() What do you .me. o the
in co unicatlon?
noise. .
differ?nt e p ‘t‘i‘ons of Mass
(u) What. are..the ct
Cormnumcatlon
.. U NIT-"‘"V yiwe . |
following
Answer any four f the 8 et
Questions V; th athematmal model
i) Who gave ™
¥ of comrnumcatlo ?f -
. ich mode! g ty silence
(ii) Whic 0 s o socie
domin . : e
the minority V;i: svation theory
Wi
(i) By who™ |
developed? 4ol was gven by
(iv) Two-St€P
whor nt deﬁnee th
i e taterm® unicatlon
(v) Write th 2l of ©
we s
= or j(LFAT ower )



- TN ~ — T T T T e e e T et
=t e e SN R~ SR Sy S Y g e T =TT

(6)

(b) Answer any one of the following

questions :

() Draw the Osgood model of
communication.

(i) Draw the Newcomb’s ABX model of
. communication.

(c) Answer any one of the following
gquestions :

() Explain the Shannon and Weaver
model with examples.

(i) What is a communication model?
Why is it important?

* % %k

Jo—170/1139  2018/TDC/ODD/JMCG-!
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COMMERCE

( 1st Semester )
. coMGEC-101

economics )

Course No.
( Micro

| Full Marks: 72%

; Pass Marks :

| Time : 3 BOUT

| in indicaté

; The es in the margt” .

| figur for the quesaons

tHons
an unS
Answel' ]

st marks

]
UNIT ) . 2x2-“—'4
m the following *
L. Answer any W0 fro e revenye
erfect and

a
. hape ©
(a) What is t.he srevemle under P

(b) Define price

. e
() What is inco™ Explain oW a
cm—ve? T

. 1ifferenc® diprium unde =10

What is an indif®" equil 2+8

consumer &% " chniqU®

b

]

' 2,
|

| e
| indifference cur?

(Tuﬂ‘d'}er’

| 99/1148




~——
e

—_ e e e AT
. LN S SRS VI WSPY SEEE LS et

g

Fro- e Ty
A RN | (3)
R ’ :c demand, the
_ , Or | () In case of perfect}y elatsat:i;posed ona
Discuss the revealed preference theory of burden of an indirect nom, (buyers of "
consumer’s behaviour. 10 commodity will fall on WnoXh |
' ’ sellers) and why?. e tive
L fectly compe
N »6' Explain the features Of,f::f i‘?ﬂi commodi =10
8. Answer any two from the following : ox2=4 = market. How i8 th: P e long- )
. ‘ i der 1 :
(a) What is social cost of production? , determined un or
(b) Define economics of sco | of.2 ]
pe. . equilib .nt cost
. a i ng-run erent C
(c) Why is long-run average cost curve 1 P:IJ:glan‘li th;ylodpgera i d:e.l.' ain 0
usually called'a planning curve? 1 Cond;E o;sin pérfect competitiot
; R c, I
What 1 | | e '
4. : t 1s production isoquant? Discuss how, UNIT v o ox2=4
with the help of optimum factor combination, the following 1
a producer reaches equilibrium 2+8=10 ! T, Answer any tWwo from o cOm truct SUPPY
) ible :
is it imposs’ o -
, o Or“ @) Whyels;nder monOPOIy? f monopol}’?:
W.hat 18 economies of scale? Explain the curv social cost ©
d1fferen1.: types of internal and external (b)) What is the b dumping?
‘econorme.s that accrue to the firm when it {c) What is meant o m onopolist
expands its seals of production, 2+4+4=10 8 Iy? HoW does : poth in the 0
I Q . no [} u u +8=1
l&aﬁﬁnﬁm price dn;-rttfn ’
UNIT—III ¢ in the 1
' short-run and or
5. Answer any two from the following : 2x2=4 . qtion? HOW does-i
: (a) What is s ! -scr]'ﬂuna. o 6ing monop‘)h.s
competits shutdown point’ of & | What is pric® & jecr B charges 10
petitive firmp | Profit maxi Bﬁces that he 9+8%
(b) Define Producer’s Surpli.is. ! dfetermine ;ets (-ﬂlm ovef)
J9/1148 ( Contin ued ) " different mar
14g L
¢



o T
r e

9.

10.

(4)

UNIT—V ’
Answer any two from the following : 2x2=4

fa) Distinguish between selling cost and
production control.

(b) What is barometric price leadership?
c) What is cartelp

Mention the features of monopolistic :
competition. How does price and output ;
determination take Place under monopolistic

competition both in the short-run and in the ;
long-run? 3+7=10

Or

Deﬁfue oligopoly. Discuss how, with the help |
of kinky demand curve, price is determined |

in oligopoly market. 10

2+8g |

* % % |
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: 50

Pass Marks :

Course No.

ynir—1

) 1.x 3=3
¢ followinB *

n-{rerbal

(@) Give on¢

. . and
. communicatio” term "enwdmg’
" () Explain th° in the
. 4 ’ i k m
‘decoding - ced fOF feedbac
(C) M ntion the n n'icauon. Ol'a-l
pricess of com™ demertt o
@ Mention % )
8 | coet:llmunicaﬁon' Turn over
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2.

(2)

An
nswer any one of the following :

(a) Write dia 5
gram i .
communicatior:n atically the process of Answer any one of the following
(b) Mentio o 2 (@) Explain the terms ‘tender and
commulzlic : different forms of ‘quotation’. S
ation. 2 (b) Why claims and adjustment letters are
written?
3. (a) Disc
uss an 7
y tw . 6. ,
communication. o  barriers of > Answer any one of the following :
Oor > ' . (@ Submita quotation to Assam University
(b) Discuss . for sale of 20 wooden chairs from your
communic .the- importance ¢ company. Also place an r.order for
ation in business. ° purchase of 100 tag:les from APARN; ,
COMPANY, BOMBAY.
{ (b) Write a letter to your custorne;s wishu':g
Unrr—II | ‘Happy New Ye&r™ 019’ and promo=®
4. Answer an | your new »product-"SHOWER MACHINE
y three of the following : 1x33 '» viz JHAMJHAM
y two types . ‘
®) Menti of business latter. ] UNIT—-*III
on any two T
. Ch . - . . 1)(3
good business letter. aracteristics of a Answer any three of the follo¥1"€.
(C) MentiOn ; (a) NamC‘ any two types (?f ﬂ?ee
any two . DO
letters issued b °btypes of complaint ' . (b company: rder—Su
supplied goods i’ uyers to seller who - )  Who can issU€ office &
@ M 0 a buyer online. ’ ‘ Subordinate? sifforence
ention an c) Menti the ere
y tw . L. ention
sales letter. o characteristics of 2 memorandur® oranda an. .
J9/1149 . () Mention. th® s “of writiné an
( Continued ) L effective memMo
1’1149
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(4)

T e e gy T TR ST T

(5)

. Answer any one of the fqllowing :

«A business report should avoid the use

8. Answer any one of the following :
(a) What is the difference between office @
circular and office order? 2! @ » t 2
(b} A - of technical words. Commett.
S a secretary of your commerce, draft cilitate report
a notice for calling Annual General () Terms of referenc® - 2
Meeting of the Forum. 2 wntlng. Comment- :
. N f
. | l the frequency ©
9. (a) Writt an  application for the . % (@) write a report onuter printer from
appointment in the post of ‘Accountant’ rejection of -comP jtable remedies. 5
in Bata Company. ' 5 users, suggesting % |
Or or diffe‘rent typeS of
(b) Mention the objective of preparation of ' (b) Write a note °7
resume. Mention the functions you will reports.
prioritize in your resume, 2+3=5 ;
; unit—V
: 3=3
UNIT—IV | following * o
3, Answer any threé of the hing
' ; earc
10. Answer any three of the following : 1x3=3 @ Menti one tool fort‘a ﬁ:‘;s
; } . o ention esen ‘
(@) What is meant by ‘report”? audience for oral Pr t‘aﬁon skills.
| _ . resen .
(b) 'Name any two types of reports. ,  (b) Mention any wo F that you can use
: ‘ s
() Me.n.tlon any .two purposes of report | (0 Name any WO Chas:ﬂtaﬁon'
wnting, . | } in PoweI'POint pre istics of oral
terl
- ; charac
(d) Mention the stages of report writing. (@ Mention £
presentation:
J9/1149 ( Contin“ed)
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(6)

14.
Answer any one of the following :

fa) What
are the essential elements of a

presentation?
“ 2
(b) “Speaking is an art.” Discuss. 2 |
15. (a ite
(@) ng::saé rl;lt:t:ioc: the use of visual aids in
(b) i )
Discuss the importance of oral

presentation.

* k%
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COMMERCE
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Course No.
( Financial Accounting )
Full Marks : 50
Pass Marks : 20
Time : 3 hours
The figures in the margin i{tdioate full mar
for the questwns
UNIT—-I
: 1x3=3
Write True of False (@Y three) : .
i ere
(@) Assets will be equal to capltal i
are no liabilities.
wner to
; wn by the O
O he e Wltl’lc:cr;‘eﬂses will be recorc:led
Plei;xpet:(?: s of pusin€ss s sundry
in the
expenses:
( Tum over )
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(2)

(c)

Accrual concept is one of the

consequences of accounting period
concept.

(d) Accounting Standards are prepared by
the owners of the business.

Mention any two informational needs of
external users of accounting information.

OR

What do you mean by Generally Accepted
Accounting Principle?

Discuss the qualitative characteristics of
accounting information,

OR

Discuss the need for Accounting Standards.

UNIT—II
Answer the following
sentence (any three) :
(a) What is Tally?
(b)
(c)
(d)

questions in single

Write the fu]) meaning of POS.
What is gateway of Tally?
What is the function of shortcut key Fs?

= USRS — S s
(W/

1x3‘3

. ed )
( Contin€ ‘]9/1150

—— e

(3)

terized
S two advantages of compu
tate any

accounting.
OR

| Tally
important features of _
State any two

i aco A
Write the steps for creation of
rite e

OR

teration
aning and StePS of of
Discuss the me

of company.

(any three) :
(@)

:e alsS0
Balance Sheet 18
statement.

(b) GST ha

on __—

: ai ted a8 ——
(c) An amoun‘:,_P pe tre?
building . ae n
. . ilities 1
expenditure sets and liabili
0
(@) purangﬂ“eg;eetnscaned"’“'

a Balanc€




=5

( 4 ) |
12 | (s}
. Menti ‘
on any two features of income zi
OR f OR
13. What i
me:t is transaction approach ) 35' X Ltd. Co. purchased a plant on 1st April,
surement? ch to income 2014 for # 25,600. Depreciation is to be
14. From th 2 provided at 25% P-2- on written down value
oo e following Trial Balan . method. The scrap value of the p}ant at the
quired to prepar ce, you are | endofth i life of 4 years 1 expected
31st March, 20 ¢ a Balance Sheet t of the econor®
31t March, 2018 and a Profit & Lo as at to be ¥8,100-
y ended 31st March, 20 ss A/c for You are required to show the Plant Alc and
, 2018 5. Depreciation Afc for the lﬂa“Cia‘ years,
Trial Balance as on 31.03  2014-15, 2015-16, 016-17 and 2017-18. 5
Dr. .03.2018
Closing Stock ¢ cr: | UNIT’IV
71000 ' . 3 i .
Rent Credit ¢ 1§ lowing questions -
Repairs l’ggg Capi:a?rs 10,003 ' . Answer any thré¢ of the fo 1x3=3
Cash?n%:rfgses 1,000 suifdpay able 9,000 . ccounting entry for g6t
Furniture 3,000 Tradi:ly Receipts 800 @ Give the & . asset On the date ©
Debtors 8,000 & A/c (G/P) 17,100 delivery of 3 stalment purchase
Drawings 15,600 agreement under
6,000
Tax and Insuranc system- .
3 . -purchas€
Discount " looo () State the eaning ©f P
35500 system
, 22,209 _ ent?
Adjustments : 35,200 (¢ What is 40%" pa
. 22— pure f hire-purchase
() Prepaid Rent—& 300 (@ state °7° 2
i ) ' system
(i) Outstanding Sund :1 y differences between
(i) Furniture to b ry Expenses— 500 | 7. Give two points t:f . P instalment
. . €
e depreciated by 10% p-a hire-purchase % 2
s purchase syster
( Tum Ouer)

Jo/1150
Continued )
( J9/1150
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(6)

OR

18. étate an
y two differences between hi
ire

u
purchase and credit Purchase

Modern M i
o ¥ alcsl“;lnery- Ltd. under instal
o] ?Apnl, 2015. The cash m?nt
was the, baian 2,090 was paid on del!)rlce
25000 o a;:e in three instal.mentwery
Moddorn T 2 the_ end of each year ST .
Py cturing Ltd. ¢ int ”
o harges interest
Prepare Purchases A

verdor. /c in the books of

OR

20. Give the specimen
books of hire vend
system.

jo
o.:- ‘:I::l entries in the
er hire-purchase

UNIT—V

21. State the accountin

following transacl‘.ionsg ireatment of the

lovng i (any three) .
in .
transit under debtor syst
stem

(b) Credit sale unde
r s

system tock and debtor

J9/1150

( Continued )

|
I
2

1x3=3

19/1150

ST

(7)

(c) Pilferage of goods at branch under

debtor system

(d) Bad Debts, discount unde
Debtor System

r Stock and

of accounts

syStemS
dent branch

What are the different
r depen
2

which can be adopted f0
accounting?

What do you unders
transactions? :
a retail branch at

A firm at Silchar h2° s received

. 9 d
Kari ling mainly goods TECENE
frir;mga(;lgi;;i;l vsee e cash received 18
. i 1 payments

remi after making al
e eepin H(‘)pajance not more than € 500.
lars relating to

and k . a :
GiVene;z;g‘i are the partict
the branch : ?
0
Bank balance 08 © 01.2018 12;30
Debtors on 01.01:2018 20
Stock on 01.01:2018 0
Local creditors " 1.01.2018 -
Local purchases 000
Local returnt outwards 200
o w7 23,870

Payment to Joc

Credit sales
( Turm over )




. 101
. Z | ster Exam., 2018
Return inwards 204 TDC (CBCS) 0dd Semeste
Cash received on Ledger A /c 23,84d
Cash sales 12, 140: : COMMERCE
Goods received from HO 21,780
Rent and office expenses 3,750} ( 1st semester )
Wages
3,960
Bad debts 250 No. : coMDSC'1°3T
Allowance to debtors 350’ Courseé ent )
Cash remitted to HO 27 350/ anization and Manage
Stock on 31.12.2018 11210 ( Business OfE
Prepare Karimgang Branch A/c in the books Full Marks T2
of HO at Silchar. 5 ass Marks : 28
OR | . . 3 hours
: Time - :
. indicate full ™% rks

25. Briefly explain the invoice price method of
branch and pass journa] entries in the books
of HO for eliminating the loading

* % ok
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P
i
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‘ in the m& i
| The figures B the question

- all question®

Answe
UNI’I"’I following as
o
1 y four from th® 1x4=4
. Answer an
directed : tan cteristic of
ne imp° b char®
ion O
(a) Mention
services- jmit for investment
' u per A ctufing
(5) Mention ch ntz rprises in manufa
. um
of medi m over )
sector. (T
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J9/1151

(2)

(c) Liberalisation helps in accelerating the i
rate of . ( production/growth ) |

( Choose the correct answer ) *
;

(d

When was Make in India Programme
launched?

(e) Define business ethics.

Answer any one from the following
questions : 2.

(a) What is Small-scale Industry?

(p) What is meant by Skill Development?

Define Social Responsibility of Business. ?
Discuss the responsibility of business

towards different interest groups of the ‘
society. 2+6=8 ‘

OR

What is E-commerce? E:ﬁplain the important
merits and demerits of E-commerce, 2+6=8'

UNIT—II

Answer any four from the following as
directed : 1x4=4

(a) Mention one important - advantage of
Sole Proprietorship Business.

( Continued )'

T T e e i

()

() Who takes decisions in 2 Joint Hindu

Family?
d by at
¢ A partnership can be ;Of;n; Y
least persons- { 217/

( Chooseé the correct answer )

., rghts in &

(d) Mento ciety.

cooperative SO ;
iective of Public
(e) Write O

Enterprises:

L Y i fO

by
(a) What do Yo meas
Company?

nt Stock¥ Company:

" (b) Define JO!

rshiP

7. Define Part®® acteris 2+6=8

essential

Firms. OR

an £ Asso;ia;m:;
8. What is Mel‘n:ten fMemofan 2+6=8
. co
Explain
Association- ( Turn over )

J9/1151
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( 4)

UNIT—I11

9. Answer any four from the following as

2,

I 1"4’-‘4 \
() Write one important feature of
Management,

(b) The main aim of Planning is to set
( objectives/standards )

( Choose the correct answer )
(c) Name one step for evaluating Strategies.

(d) Menﬁ?n one distinction between Formal
Organization and Informal Organization.

(¢} Mention one benefit

f Functi
Departmentation, ctional

10. Answer any one question from the following :
(@ What is meant by Oreaninar
Structure? y rganization
(b) What is Authority?
J9/1151

|

3.

|
{ Continued }iJ9/1151

I. What is meant by Decision Makin

(5)

g? Explain
i i 2+6=8
the process of Decision Making.
OR

i f
Discuss various types of

Define Group- o

Groups.

uNT—1V

estions from the

Answer any Jfour qu © s
fOllOWlng : |
e the types of Autocratic
(aq) What are |
leaders?

im ortant factors of
i . .
tivation-Hygiene theory.

tion of sTheory-X’ and

(b) Mention tWO
Herzberg’s Mo

(c) Write on€ distinc
e f comﬁMnication.

d) Mention one element ©

. iective of con

(e) What is the obj

any oné question from the. follo“,":ng .2
Z:sw\:hat is meant by commun::;uon
() Explain the concept of con
( Turn Over )




(7)

(6) |
| . . ious
. . . . Decisions. Discuss vario -
15. Explain Maslow’s need Hierarchy Theory. 8?' ?eﬁne F:fr;a:t::;gfmancing decisions. 2468
actors afie
OR OR
16. Discuss the process of control in a modern Distinguish e
business concern. 8b' Define Debentlu:;;\res. 2+6°8
Debentures an '
|
UNIT—V | el
17. Answer any four questions from the
following : 1x4=4
a) Write the names of Foyr P’s.
(b} M.ent.iog one important objective of
Financial Management.
(c/) What are the two forms of corporate
securities?
(d) When was SEBI Act passed?
(e) Which management function deals with
performance appraisa] of employees?
18. Answer any one question from the following : “
(a) What is the meaning of personnel |
management? I
(b) Define industrial relations. |
. i 01
2018/T0¢/ oDD/BC
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